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AFCAT-2 2023 Most Expected Questions

(ENGLISH) — PART 1

COMPREHENSION

Direction: In this section you have three short
passages. After each passage, you will find some
items based on the passage. Read the passage
carefully and answer the items based on it.

“Now ladies and gentlemen.” said the conjuror,
“having shown you that the cloth is absolutely
empty. I will proceed to take from it a bowl of
goldfish. Presto!”

All around the hall people were saying, “Oh, of
course”. And everybody whispered round the
hall, “He —had-it —up- his — sleeve.”

Again everybody nodded and whispered, “The
—rings-were-up his- sleeve.”

The brow of the conjuror was clouded with a
gathering frown.

”I will now.” He continued,” show you a most
amusing trick by which I am enabled to take any
number of eggs from a hat. Will some gentleman
kindly lend me his hat? Ah, thank you —Presto!”

He extracted seventeen eggs, and for thirty-five
seconds the audience began to think that he was
wonderful. Then the Quick Man whispered
along the front bench. “He has a hen-up-his
—sleeve, “and all the people whispered it on.”
He-has-a-lot — of hens- up his sleeve.”

The egg trick was ruined.

It went on like that all through. It transpired
from the whispers of the Quick Man that the
conjuror must have conceited up his sleeve, in
addition to the rings, hens, and fish, several
packs of cards, a loaf of bread, a doll’s cradle, a
live guinea pig, a fifty-cent place, and a rocking
chair.

“The brow of the conjuror was clouded
with a gathering frown.” The sentence
means that the conjuror

(a) Was very pleased

(b) Was very sad

(c¢) Was rather angry

(d) Was very afraid

“The egg trick was ruined.” This means that
(a) Eggs were all broken

(b) People were unconvinced

(c) Conjuror was disappointed

(d) The trick could not be performed
According to the Quick Man the conjuror
(a) Had everything bought for production
(b) Produced things with the magic he know
(¢) Had things in the large sleeves of his coat

(d) Created an illusion of things with his
magic

The author believes that the Quick. Man
was really.

(a) Foolish
(b) Clever
(¢) Wrong
(d) Right

The conjuror extracted seventeen eggs from
the hat of
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(a) The Quick Man
(b) His won
(¢) One gentleman from the audience
(d) None of the above
PASSAGE -2

Magda: Good Moring Mrs. Smiles It’s wet isn’t
it?

Mrs. Smiles: Yes, it is, isn’t it? How are you
today? You haven’t been studying too hard have
you? You look a bit pale.

Magda: I don’t do I? Well, I haven’t been out
much lately I don’t like this weather a bit why,
we haven’t had a dry day for weeks, have we?

Mrs. Smiles: No, I don’t think we have let’s see,
you’ll be going back home next month won’t
you?

Magda: Oh no, I’m not going back yet. My
sister’s coming over first

Mrs. Smiles: Oh, is she? You’re looking forward
to that I expect. How long is it since you saw her

Magda: Nearly a year now. Yes I am looking
forward to it very much.

Mrs. Smiles: She’s coming over here to study?

Magda: Yes that’s right I shan’t go back home
until she’s settled down I don’t think I ought to
ought 1?

Mrs. Smiles: Well, no, she’s younger than you
are, is she?

Magda: Yes she’s only eighteen.

6. Magda had not been out much lately
because

(a) She had not been keeping well
(b) She was busy with her studies
(¢) The weather had been unpleasant
(d) Her sister had come over to stay
7. Magda was not going back home yet because

(a) It had been raining heavily

(b) Her sister was coming over
(c) Her studies were not completed
(d) She was not feeling well

8. Mrs. Smiles says,” You’re looking forward
to that “ This means, Magla was.... Her
sister’s arriveal.

(a) Expecting with pleasure
(b) Preparing hard for
(¢) Thinking greatly about
(d) Watching with joy

9. Magda’s sister was coming to
(a) Visit her sister
(b) Help Mrs. Smiles
(c¢) Settle down in England
(d) Pursue her studies

10. Mrs. Smiles and Magda are

(a) Classmates (b) School friends

(¢) Neighbors (d) Sister —in- low

SPOTTING ERRORS

Directions:- Each item in this section has a
sentence with three underlined parts labelled as
(a),(b), and (c) Read each sentence to find out
whether there is any error in any underlined
part and indicate your response on the Answer
Sheet against the corresponding letter i.e, (a) or
(b) or (c¢). If your find no error, your response
should be indicated us (d).

11. It was nearly thirty years ago. /(a) since this
magazine /(b) was first published. /(c) No
error (d)

12. Ten years ago he was having an income /(a)
of over ten thousand rupees a month; 1(b)
he must indeed be a wealthy man by now.
/(c¢) No error (d)

13. In spite of the fact /(a) that the meeting was
about to end. 1(b) he insisted to ask several
questions. /(c) No error (d)
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14.

15.

16.

17.

18.

19.

20.

Hardly had he entered into the room /(a)
and taken his seat. /(b) when the girls began
to giggle. /(¢) No error (d)

I was disappointed /(a) when I came for
seeing you last evening /(b) but could not
find you at home. /(¢) No error (d)

The number of jobs /(a) that would be
satisfactory in all respects /(b) are small. /(c)
No error (d)

I have found the man /(a) whom I know /(b)
is the thief. /(c) No error (d)

There is no reason /(a) why he should not
come /(b) since he is in town and is free. /(¢)
No error (d)

It is high time /(a) we cried a halt to the
existing corrupt practices /(b) followed in
the educational sphere. /(c) No error (d)

The situation is perilous /(a) but if we are
prepared promptly to act. /(b) there is still
one chance of escape. /(c) No error (d)

COMPLETION OF SENTENE

Direction: The following items have one part of
the sentence followed by four alternatives.
Complete the sentence by choosing the correct
alternative.

21.

22.

23.

I stopped seeing her
(a) For she moved to the city
(b) As long as she moved to the city.

(¢) No sooner than she moved to the city

(d) Because she moved to the city.
He led the caravan

(a) Whenever he wanted to go.
(b) Whichever he wanted to go.
(c¢) Wherever he wanted to go.

(d) Whomsoever he wanted to go.
Unless you work harder

(a) You will succumb. (b) You will pass

(¢) You will fail
promoted

24. Had I the wings of a bird
(a) I would fly away.
(b) I should fly away.
(c) I will have flown away.
(d) I could have flown away.
25. He would be happier.
(a) Was he more honest.
(b) Had he more honest.
(¢) Should he be more honest.
(d) Were he more honest.
26. No sooner did I arrive at the airport

(a) Then the flight took off.

(b) Than the flight took off.
(c) Did the flight take off.

(d) Than the flight shall take off..
27. 1 could not be angry with him

(a) Had I tried. (b) Should I try.
(c) If I tried. (d) Even I tried.
28. He knows only

(a) So much as I have told him.

(b) Whichever I have told him.

(¢) So far as I have told him.

(d) What I have told him.
29. As you have made your bed

(a) You must learn to lie.

(b) You must adjust with the situation.

(¢) So you must lie on it
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(d) So that you can lie on it.
30. The younger man has more money

(a) Then brains (b) Of brains

(¢) Than brains (d) For brains

ORDERING OF SENTENCES

Directions: In this section each item consists of
six sentences of a passage. The first and sixth
sentences are given in the beginning as S1 and
S6. The middle four sentences in each have been
jumbled up and labelled as P,Q, R and S. You
are required to find the proper sequence of the
four sentences and mark your response
accordingly on the Answer Sheet.

31. S1: Things are often not what they seem.

S6: This happened without you even
knowing it. So imagine the changes that
occurs to this earth and humanity.

P: But you are really not, because the Milky
Way galaxy, of which you are a part, is
moving through space at 2.1 million
kilometres an hour.

Q: So, in roughly twenty-second that it
would have taken you to read this
paragraph, you have already moved
thousands of kilometre.

R: And that is without taking into account
the effects of earth's ration on its won axis.
Its orbiting around the sun and sun's
journey around the Milky Way.

S: As you read this sentence, perhaps sitting
in a comfortable chair in your study, you
would probably consider yourself at rest.
The correct sequence should be

A.QRPS B.RQPS
C.PQRS D.SPRQ

32. S1: On increasing the temperature of solids,
the kinetic energy of the particles increases.

S6: The temperature at which a solid melts
to become a liquid at the atmospheric
pressure is called its melting point.

33.

34.

P: A stage is reached when the solid melts
and is converted to a liquid.

Q: Due to the increase in kinetic energy, the
particles start vibrating with greater speed.

R: The particles leave their fixed positions
and start moving more freely.

S: The energy supplied by heat overcomes
the forces of attraction between the
particles.

The correct sequence should be

A.QSRP B.QRSP

C.PRSQ D.SPRQ

S1: Regular exercise makes many of the
organ systems become more efficient.

S6: Different activities require different
levels of fitness.

P: It can improve your strength: make your
body-more flexible and less likely to suffer
from sprain.

Q: It can also improve your endurance.

R: It also uses up energy and helps to
prevent large amounts of fat building up in
the body.

S: Exercise can increase your fitness in three
ways.

The correct sequence should be

A.QRSP B.RSPQ

C.PSQR D.SQRP

S1 : Politics is exciting because people
disagree.

S6: It is not solitary people who make
politics and a good society, it is the people
together which make good politics and
society.

P: For Aristotle politics is an attempt to
create a good society because politics is,
above all, a social activity.

Q: They also disagree about how such
matters should be resolved, how collective
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3S.

36.

decision should be made and who should
have a say.

R: They disagree about how they should
live.

S: Who should get what? How should power
and other resource be distributed? Should
society be based on cooperation or conflict?
And so on.

The correct sequence should be

A.RSQP B.PQSR

C.QSRP D.RSPQ

S1: The ecosystem of water is complex and
many environmental factors are intricately
linked.

S6: The trees slowly transfer rainwater into
the sub-soil and this is critical for sustaining
water for months after the rains.

P: Thick forests
catchments.

make for excellent

Q: The problems we see are because we have
undermined these links over decades.

R: First rain and snowfall are the only
sources of water — about 99%.

S: In the four months of monsoon, there are
about 30-35 downpours and the challenge is
to hold this water in systems that can last us
over 365 days.

The correct sequence should be

A.QRSP B.PSRQ
C.SRQP D.RQSP

S1: All living things affect living and
non-living things around them.

S6: This inter dependability needs to be
understood when we, humans consume
much more than required and abuse nature.

P: This can also affect the population of fox,
if foxes depend on rabbits for food.

Q: For example, earthworms make burrows
and worm casts,

37.

38.

R: This act of earthworms affect the soil,
and therefore the plants growing in it.

S: Rabbit's fleas carry the virus which
causes myxomatosis, so they can affect the
size of the rabbit population.

The correct sequence should be

A.RSQP B.PSRQ

C.QRSP D.SQRP

S1: Hormone have several functions in the
body.

S6: The two hormones together regulate the
glucose level in the blood.

P: They help to maintain the balance of
biological activities in the body.

Q: Insulin is released in response to the
rapid rise in blood glucose level.

R: On the other hand hormone glucagon
tends to increase the glucose level in the
blood.

S: The role of insulin in keeping the blood
glucose level within the narrow limit is an
example of this function.

The correct sequence should be

A.PSRQ B.RSPQ

C.SRQP D.QRSP

S1: Paleontology is the study of the remains
of dead organisms over enormous spans of
time.

S6: Faunal analysis gives information about
the animal people hunted and domesticated,
the age of animal at death, and the diseases
the afflicted them.

P: Bones provide a great information

Q: The distribution of faunal remains
(animal bones) at a site can indicate which
area were used for butchering, cooking,
eating bone tool making and refuse
dumping.
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39.

40.

R: Within this discipline, molecular biology
and DNA studies have been used to
understand hominid evolution.

S. Hominid evolution answers the questions
about what ancient people looked like, and
to plot patterns of migration.

The correct sequence should be

A.QPRS B.SPQR

C.RSPQ D.PQRS

SI: Central government receipts can broadly
be divided into non-debt and debt receipts.

S6: This is also evident from the composition
of non-debt receipts.

P: Debt receipts mostly consist of market
borrowing and other liabilities which the
government I obliged to repay in the future.

Q: The non-debt receipts comprise of tax
revenue, non-tax revenue, recovery of loans
and disinvestment receipts.

R: The outcomes as reflected in the
Provisional Actual figures is lower than the
budget estimate owing to reduction in the
net tax revenue.

S: The Budget 2018-19 targeted significantly
high growth in non-debt receipts of the
Central Government, which was driven by
robust growth.

The correct sequence should be

A.SRPQ B.RSQP

C.PQRS D.QPRS

SI: The country's economy is growing and
would continue to grow at a rapid pace in
the coming years.

S6: The market share of electrical vehicles
increases with increasing availability of
infrastructure.

P: It also provides us an opportunity to grow
as manufacturer of electric vehicles.

Q: According to NITI Aayog (2019), if India
reaches an electric vehicles sales

penetration, emission and oil savings can be
achieved.

R: Given the commitments that India has
made on the climate front as a nation and on
environmental aspect, it is likely that larger
and larger share of automobiles sector
would be in the form of electric vehicles.

S: This presents a great opportunity for the
automobile industry, as the demand for
automobiles would only increase.

The correct sequence should be

A.SRQP B.RQSP
C.QPSR D.QSRP
IDIOMS AND PHRASES

DIRECTION (31-40): Given below are some
idioms/phrases followed by four alternative
meanings to each. Choose the response (a), (b),
(¢) or (d). Which is the most appropriate
expression and mark your response in the
Answer Sheet accordingly.

41.

42.

43.

44.

A queer fish

(a) A strange person

(b) A good person

() An unlucky person

(d) A lucky person

Eat like a bird

(a) Eat very quickly

(b) Eat a lot

(c) Eat continuously

(d) Eat very little

Lock horns

(a) Be like a bull

(b)  Argue about something
(c) Agree with someone
(d) Think about the horns
Early bird
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45.

46.

47.

48.

49.

50.

(a) Low flying
(b) Latest
(c) Ancient avian
(d) First arrival
Be in the pink
(a) To be very healthy
(b) To be very colourful
(c) To be very sad
(d) To be very rich
Be in the running
(a) In a very bad state to speak
(b)  In a powerful position
(c) In a good position to win
(d) In a losing position
A sea change
(a) Change in the sea tides
(b) A complete change
(c) Change like sea
(d) Changed sea with pollution
A pearl of wisdom
(a) An important event in one’s life
(b) An important person of wisdom
(¢) An important piece of advice
(d) An important thing in one’s life
Be in seventh heaven
(a) To be extremely sorry
(b) To be extremely wise
(c) To be extremely sad
(d) To be extremely happy

Be in the red

(@)

To owe money to a bank

(b) To get money from one’s family
(c) To be in danger of being caught

(d) To be in favour of needy people

SYNONYMS

Direction: Each item in this section consists of a
sentence with an underlined word followed by
four words/groups of words. Select the option
that is nearest in meaning to the underlined
word and mark your response on your Answer
Sheet accordingly.

51.

52.

53.

54.

55.

56.

57.

The discussion was WOUND UP after a long

and fruitful exchange views.
(a) Postponed (b) Cut short
(c) Interrupted (d) Concluded

He was fully ALIVE to the need for making

adjustments.
(a) Concerned about (b) Worried about
(¢) Aware of (d) Indifferent about

The police officer tried to INTIMIDATE the

witness but in vain.
(a) Inform (b) Reward
(c) Frighten (d) Persuade

We must adopt DRASTIC measures to

control population growth.
(a) Simple (b) Dramatic
(¢) Realistic (d) Severe

He is extremely METICULOUS in his

approach.
(a) Simple (b) Careful
(¢) Fair (d) Reasonable

The experts' MINUTE examination brought
to light some important clues.

(a) Quick
(¢) Superficial

(b) Detailed
(d) Prolonged

The decision of the Union Government to
REPEAL the Urban Land Ceiling Act has
been welcomed by all.
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(a) Suppress (b) Amend

(¢) Cancel (d) Withhold
58. This is his MAIDEN appearance on the

screen.

(a) First (b) Last

(¢) Girlish (d) Shy

59. At the end of the marathon everybody was
EXHAUSTED.

(a) Weakened (b) Honoured

(¢) Satisfied (d) Tired

60. He gave me a COUNTERFEIT coin.

(a) Rare (b) Fake

(¢) Immatured (d) Inferior

CLOZE COMPREHENSION

Directions: Each of the following sentences in
this section has a blank space with four words or
group of words given. Select whichever word or
group of words

you consider most appropriate for the blank
space and indicate your response on the Answer
Sheet accordingly.

Bad habits such as over —eating, drinking or
Smoking (61) very easy to acquire. One
should fight (62) the force of habit. Even
good things can be very harmful .when done
(63) excess. The wise man is conscious (64)
his bad habits and checks them promptly.
The use of tobacco has spread all (65) the
world. Those who have acquired this bad
habit would (66) be able to get rid of it.
Alcohol, which more common in cold
countries than in warmer ones, does nobody
any good and should be avoided (67) Alcohol,
even if taken in small quantities, (68) to
affect one’s health. For the victims of
alcoholism, (69) helps, but this condition
cannot be cured Symptoms of alcoholism
include repeated alcohol consumption (70)

related legal and health issues.
61. (a) Have (b) Are

() Will (d) Shall

62. (a) From (b) For
(c) Of (d) Against
63. (a) To (b) In
(c) With (d) As
64. (a) About (b)With
regard to
(c) Of (d) With
65. (a) Around (b) Of
(¢) Over (d) In

66. (a) Barely

(b) Scarcely

(¢) Seldom (d) Hardly
67. (a) Particularly (b) Altogether

(c) At habitually (d) Discreetly
68. (a) Tends (b)Does

(c) Levels (d) Denies

69. (a) Diagnose

(c) Treatment

70. (a) Serious

(c) Meaning

(b) Challenge

(d) Chronic
(b) Despite

(d) Therapeutic

FILL IN THE BLANKS

Directions: Each of the following sentences in
this section has a blank space and four words or
groups of words given after the sentences. Select
the words or group of words you consider most
appropriate for the

blank space and indicate your response on the
Answer Sheet accordingly.

71. There was a time when West Germany was a

distinct .
(a) Policy (b) Polity
(c) Abstract (d) Hierarchy
72. 1 was with the film; I had expected

it to be better.
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73.

74.

75.

76.

77.

78.

79.

(a) Disappointed (b) Disappointing
(¢) Annoying (d) Prejudiced

It was a experience. Everybody was
shocked.

(a) Terrified (b) Horrified

(c) Terrifying  (d) Denouncing
Elephants when they perceive
danger.

(a) Trumpet (b) Frolic

(c) Whine (d) Sing

The first film on Tagore was such a success

that now they are going to make a
(a) Serial (b) Sequence
(¢) Sequel (d) Sequential

The United Nations had 2020 as the
International Year of Plant Health.

(a) Ruled (b) Ordered

(c) Foretold (d) Declared

My brother is punctual, but he is late
today.

(a) Normatively (b) Primarily

(¢) Normally (d) Basically

My son is very
(a) Fallible
(¢) Sensible

; he trusts everyone.
(b) Gullible
(d) Credible

Mahatma Gandhi was a lover of humanity
and a believer in the goodness of
human nature.

(a) Staunch (b) Powerful
(c) Cheerful (d) Hopeful

80. I wish 1 her before we met.
(a) Know (b) Have known
(¢) Knew (d) Known

WORD CLASSES

Direction (1-10): Each item in this section
consists of a sentence with an underlined
word/words followed by four words. Select the

option that is

nearest in meaning to the

underlined word/words and mark your response
on your Answer Sheet accordingly.

81.

A provocative message had been doing
rounds on social media to instigate the mob
against migrants.

(a) Dexterous (b) Inflammatory

82.

83.

84.

8s.

86.

87.

88.

89.

(c¢) Valiant (d) Prudent

The differences include increase in mean
temperature and heavy precipitation in
several regions.

(a) Drought (b) Oasis

(¢) Rainfall (d) Snowing

The portal will help victims and
complainants to anonymously report cyber
crime.

(a) Incognito (d) Directly
(¢) Unfailingly (d) In situ

He is suffering from a terminal disease.

(a) Sublunary (b) Terrific

(¢) Chronic (d) Incurable

Doctors are reluctant to take rural postings
despite big salary offers.

(a) Disinclined (b) Eager

(c) Fervent (d)
Unrepentant

The authorities have reprimanded the
subordinate officer for violating the
protocol.

(a) Extolled (b) Purported
(¢) Admonished (d) Required an
apology

For Gandhiji, India’s religious and linguistic
diversity was an asset, not a liability.

(a) Obligation (b) Advantage

(c) Attribute (d) Reinforcement
How hysterical he is !
(a) Berserk (b) Inconsistent
(¢) Duplicitous (d) Insincere

Mabhesh is mostly prejudiced in his political
opinion.
(a) Objectionable (b) Predatory

(¢) Jaundiced (d) Intimate
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90. Do not indulge in tautology

(a) Truth telling

(b) Prolixity

(¢) Foretelling

(d) Telepathic conversation
ORDERING OF WORDS IN A SENTENCE

Direction: In each of the items in this section,
there is a sentence of which some parts have
been jumbled up. You are required to rearrange
these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper
sequence and mark in your Answer Sheet
accordingly.

91. But perhaps the best way is to agree P/there
are many ways of dealing Q/with them
without excessive argumentation R/with

intransigent customs S

The correct sequence should be

(a) QPRS (b) QSPR

(¢) PSQR (d) RSQP

92. In the yeas following P/India achieved
remarkable economic development Q/

liberalization in the year 1991 R/the
landmark reforms inaugurated via S

The correct sequence should be

(a) PQRS (b) PRSQ

(¢) SPRQ (d) QPSR

93. Was the victory secured by the women's
hockey team P/in the arena of sport, perhaps
Q/against Australia in the Tokyo Olympics
R/ the greatest moment in Indian Olympic
history S

The correct sequence should be

(a) SPQR (b) RPQS

(c) QSPR (d) QRPS

94. In terms of GDP and GNP, P/for gauging
the success of a nation Q/which are the two

major determinants R/economic progress is
determined S

The correct sequence should be

(2) SQRP (b) RPQS

(¢) SPRQ (d) QRPS
95. With the aplomb of a stage artist, P/that
they are not men of straw Q/they can twist

and shake their wobbly heads
R/mesmerizing the gullible into believing S

The correct sequence should be

(a) PRQS (b) RPSQ

(c) SPQR (d) QRPS

96. Ofits rain-soaked verdure P/and on the
other there are Q/on the one hand there is
the immense beauty R/the artifacts of its

visible modernity S

The correct sequence should be
(a) PRQS (b) QRSP
(c¢) SPQR

97. Are often rooted P/the causes, Q/of extreme
poverty R/in the inequalities social systems S

(d) RPQS

The correct sequence should be

(a) QRPS (b) QRSP

(c) SRQP (d) SRPQ

98. A person by the way P/he behaves and
Q/you must judge R/not by the way he looks

The correct sequence should be

(a) RPQS (b) QRSP

(¢) QRSP (d) QPSR

99. To the greatest number of people P /that
causes the least discomfort Q/ whenever in
doubt R/always opt for the options

The correct sequence should be
(a) RQPS (b) SRQP

(c) RSQP (d) QPRS

100.Brought by bad times P/against the
despondency Q/our greatest defence R /faith

and belief are s
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The correct sequence should be

(a) RQPS (b) SRQP
(¢) RSQP (d) QPRS
ANTONYMS

Directions: Each item in this section consists of a
sentence with an underlined word/words
followed by four words. Select the option that is
opposite in meaning to the underlined
word/words and mark your response on your
Answer Sheet accordingly.

101. The country's economy must be geared to
wartime requirements.

(a) Subordinated to (b) Related to
(c) Adjusted to (d) Unlinked to
102. Why does fire attract insects ?
(a) Discharge (b) Destroy
(¢) Repel (d) Remove

103. The party was excellent, and I would like to
thank all the people concerned.
(a) Cared (b) Attentive
(c) Dependable (d) Uninvolved
104. He is very serious by temperament.
(a) Grave (b) Trivial
(¢) Sober (d) Stupid

105. There are a few miscellaneous items to

discuss in this meeting.
(a) Pure (b) Mixed
(c¢) Homogenous (d) Discordant

106. Due to the postal strike, the outgoing mail

got delayed.
(a) Urgent (b) Incoming
(¢) Ordinary (d) Speedy
107. He had a fine ear for music.
(a) Small (b) Close
(c) Coarse (d) Smooth

108. There is no likeness between him and his

brother.
(a) Unlikeliness (b) Unlikelihood
(c) Dissimilarity (d) Disaffinity

109. Cultural diversity in the working place is
good for business.

(a) Uniformity (b) Conformity

(c) Identity (d) Similarity

110. The company was liquidated within five
years.
(a) Bankrupt (b) Closed down

(c¢) Flourishing (d) Privatized

PREPOSITIONS AND DETERMINERS

Directions: Each of the following sentences in
this section has a blank space with four options.
Select whichever preposition or determiner you
consider the most appropriate for the blank
space and indicate your response on the Answer
Sheet accordingly.

111. He succeeded
and hard work.

dint of perseverance

(a) By (b) For

(c) On (d) Upon
112.Due to his illness, he could not finish the

work— time.

(2) By (b) For

(¢) On (d) Upon
113.There is no meaning —— what you say.

(a) By (b) For

(c) In (d) On
114.These are good rules live by.

(a) With (b) To

(c) In (d) On

115. He is the man I have been looking
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(a) At (b) For

(¢) In (d) On
116. Don’t loiter —— the street.

(a) Near (b) Around

(¢) In (d) On
117. Sit here ——— me.

(a) By (b) Beside

(¢) In (d) On
118.We mustn’t shy —— entry-level or

freelance jobs as they help us gain an insight
in to the context in which a company

operates.
(a) In (b) With
(c) Away from (d) Upon

119.Clivil society and media have a major role in

making the coalition work the people.
(a) For (b) About
(c) With (d) Over
120.He travelled Mr. Joshi’s car.
(a) By (b) For
(c) In (d) On
MATHEMATICS) — PART 11
1. The total cost price of two watches is Rs. 840. or gain in the whole transaction. The cost
One is sold at a profit of 16 percent and the price of the watch on which the shopkeeper
other at a loss of 12 percent. There is no loss gains, is/ Gl ©f3AT I Fel HT T .
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840. Teh &l 16 UfaRId & o W AR @
I 12 YT Y gl 9 &= el 81 @
AT F RS gl ar omer & & Dy
AT Fed 5 W GHER I o1t gl
6 % ©?

(a) Rs. 360 (b) Rs. 370

(c) Rs. 380 (d) Rs. 390

One trader calculates the percentage of profit
on the buying price and another calculates on
the selling price. When their selling prices are
the same, then the difference of their actual
profits is Rs. 85 and both claim to have made

20% profit, what is the selling price of each?/
T AR Gle Hed W AT & Iiderd
I IOTAT HIAT § AR @ Ol Fog W
AOAT AT gl g 3Adr fashr A
A @l &, dl 3oIoh dArEdideh olld ol
3R 9T g g1 85 3R gt A 20% wreT
®HAGT HT gar hAT §, Tdd H AhT
AT T §?

(a) Rs. 1700 (b) Rs. 2100

(c) Rs. 2550 (d) Rs. 2750

. A trader bought two horses for Rs. 19,500. He

sold one at a loss of 20% and the otherat a
profit of 15%. If the selling price of each horse
is the same, then their cost prices are

respectively./ Tdh SIURT o &l 9 H qr
e @S| 19,500. 3T TH H 20% T
gifer W 3R g T 15% F H R 97
G afE gds o913 & A%y Aeg aA

g, Al 3eTehl ORI Hed $HA: §?

(a) Rs. 10,000 and Rs.9,500
(b) Rs.11,500 and Rs.8,000
(c) Rs.12,000 and Rs.7,500

(d) Rs.10,500 and Rs.9,000

4. X sells two articles for Rs.4,000 each with no

loss and no gain in the transaction. If one was
sold at a gain of 25% the other is sold at a loss

of/ X 9cdsh TEJ I 4,000 TUF H T g,
od¢ed H o o HIg &lfel glal & 3 o &
PIS o g gl IfS T & 25% oy W

ST 917 g &l g1fey oY <= a1
(a) 25% (b) 18-—%

(c) 16=% (d) 20%

. A dishonest grocer sells rice at a profit of 10%

and also uses weights which are 20% less than
the marked weight. The total gain earned by

him will be / T SSATT ORI 10% o1 W)
qiad SadT g 3R 3ifehd ao & 20%
Iolel I 39T &I gl 38h AN

TSI el ofreT gm?

(a) 37.5% (b) 32%

(c) 30.5% (d) 35%

. A dishonest dealer professes to sell his goods

at the cost price but uses a false weight of 850
g instead of 1 kg. his gain percent is/ T

SgHATT MR YT ATl AT {ed W
9Tl HT EMAT AT § olfhed 1 Thell &
ST 850 ATH I Idd dolel  SEIHTA
FAT &1 3T a1 wfaera &2

(a) 17% (b) 175%

(b) 714-% (d) 11--%

Mr. dutta desired to deposit his retirement
benefit of Rs. 3 lacs partly to a post office and
partly to a bank at 10% and 6% interests
respectively. If his monthly interest income
was Rs.2000, then the difference of his
deposits in the post office and in the bank

was/ #T ¢l 39T QAT 18T &, STAT
FET AR V| 3 M@ T RS T
Ueh SHER &l 3R 3HMA+F T F T &
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10.

F HAA: 10% 3T 6% sIToT UX| IfE 3T
A1 8% sTIeT 31T 2000 39 T, A SHER
IR dF 7 3R FAT A T AT AR

(a) Rs.1,00,000 (b) Rs. 40,000

(b) Rs. 50,000 (d) Rs. Nil/ =3

A boy aged 12 years is left with Rs. 100,000
which is under a trust. The trustees invest the
money at 6% per annum and pay the minor
boy a sum of Rs.2500, for his pocket money at
the end of each year. The expenses of trust
come out to be that Rs. 500 per annum. Find
the amount that will be handed over to the
minor boy after he attains the age of 18

years./123ﬁ'@'3—]‘l§3‘lﬂ'@ﬂga§3§w
%. 100,000 ST Uh TTC & 3N gl &I
gfd a¥ 6% T X & a1 fAdy wd &
3R 9A® a¥ & 3id H Aol d85dh H
3HAT Uiche FHell & folT 2500 F9T &l
AT A §l g W TAT e
faeear g 500 ufa av. ag i aa
HITIT ST AT Tgeh T 18dY & 31g
gTed el & o1g |idr Sreef?

(a) Rs.125000 (b) Rs.118000

(c) Rs.150000 (d) Rs.120000

The simple interest on Rs. 36,000 for the
period from 5" January to 31% May, 2013 at
9.5% per annum is / :i;s 36]000 ewy/ku ij]
9-5 ¢fr’kr okfZ”’kZd dh nj Is 5 tuojh Is 31
ebZ] 2013 rd dk Ik/kkj.k C;kt D;k gksxk\

(a) Rs.1,368 (b) Rs.1,338

(c) Rs.1,425 (d) Rs.1,400

The rate of simple interest per annum of bank
being decreased from 5% to 3.5%, the annual
income of a person from interest was less by
Rs.105. The sum deposited at the bank was/

10. S &1 ITf¥e FUROT AT & 5% T
gl 3.5% fhd I & U afed &r

I1.

12.

13.

14.

SIST ¥ a1f¥es 31T 105 &9 $H gl -7
Sop & AT iy A

(a) Rs.7,000 (b) Rs.6,000

(c) Rs.7,200 (d) Rs.6,800

Tushar borrowed a sum of Rs. 12,000 at 15%
per annum from a money-lender on 13"
January, 1987 and return the amount on 8"
June,1987 to clear his debt. Then the amount
paid by Tushar to the money-lender to clear

his debt was./?f!’l? J Uy & UM IUR
ol 13 S7adl, 1987 HT Th HGHR T 15%
¥ gTeT & W 12,000 394 forw 3iK 8
SIeT, 1987 &I 3HeT &hol Yohlel & folw TRy
der &1 9 qUR & 39T @l ghlel &
foT AghR @1 fohder A gerg A

(a) Rs.15,000

(b) Rs.11,394

(c) Rs.12,720 (d) Rs.13,650

A man spends his two months’ income in
three months’ time, if his monthly income is

6000, then his annual saving is/ Tch 3IGHT
39AT & FEA AT I A AT FEA H
Y T g, Il 386 A8 31T 6000 &,
ar 39T arfieh sad g2

(a) 18000 (b) 24000

(c) 12000 (d) 36000

If the income of A is 10% more than that of B
and the income of B is 20% less than that C,

then the incomes of A,B,C are in the ratio./

gfec A ST 3T B FH T T 10% 3F &
IR BH T CcH 20% FHH &, A, B, Chr

3T AT H 82
() 11:10:8 (b)10:9:7

(c) 22:18:25 (d)22:20:25

A box has 1 rupee, 50 paise and 25 paise coins
in the ratio 3 : 2 : 5 worth Rs. 252. The number

of 25 paise coins in the box is/ Tah gFT H 3:
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15.

16.

17.

2:5% U H 1399, 50 9 3R 25 %4
F e § Fadr fima 3: 2: 5 &1 252.
g8 H 2590 & @l Hr T&IAT 82

(a) 96 (b) 144

(c) 240 (d) 48

A canister holds 36 litres of mixture of milk
and water in the ratio 3 : 1. 15 litres of milk is
added to the canister. The new ratio of the

mixture is/ WWﬁ'&l%&lﬁqﬂﬁ'
gy 3N Ul T 36 e fAMUT @ ST
g HeTe H 15 fieX g AT e gl
0T &1 AT 3T &2

(a) 12:5 (b)14:3

(c) 7:4 (d)9:4

The sum of 1/5" of the number and 25% of
another number is equal to 40% of the first
number. What is the ratio of the first number

and the second number?/ Ry g&ar &1
1/5aT 19T 3R q@dl TEAT HT 25% HT 19T
Ugell T&AT & 40% & SReX gl Tgell T&AT
3R q@ FE&AT HT U FIAT §2

(b)5:2

(a) 4:3

(c)5:4 (d)6:5

In a cricket match there are three types of
tickets say A, B and C each costing Rs. 1000,
Rs. 500 and Rs. 200 respectively. The ratio of
their ticket sold of category A,Band Cis3:2:
5. If the total collection from selling the tickets
is Rs. 2.5 crore. Find the total number of

tickets sold?/ T& fohohe T H T g
& *Hhe gId & A, B3R cIcds &1 &Ad
¥l 1000, %. 500 3{X &. H#AA: 200. F0T A,
B3R & o v feahel &l 3eqard 3:2:5
gl e e ST ¥ FT TIAT Tl 2.5

S, I AT et Fir Fol J&IT A
Fifaw?

(a) 5000 (b) 4800

18.

19.

20.

(c) 50000 (d) 52000

A can do % of a piece of work in 5 days, B can

do % of the same work in 9 days and C can do
2
3
can three of them together do the work?/ A

et ST FT 1/2 19T 5 AT H F Thar
g, B 38T &Y & 3/5 #9T 9 feaAt H &<
TohdT & 3R c39 F1F &1 2/3 AT 8 fear
H & Foharl gl 398 F I Ao 39
FA @l e fGall # QU & " 82

of that work in 8 days. In how many days

(a) 3 days (b) 5 days
(c) 4% days (d) 4 days
A man and a boy received Rs. 800 as wages for

5 days for the work they did together. The
man’s efficiency is twice of the boy. What are
the daily wages of the boy?/ ,d iq:”k rFkk ,d
yM+ds dks 5 fnuks rd IkFk dke djus ds
fy;s 800 :lk;s feyrs gSaaA iq:”’k dh dk;Z
{kerk yM+ds dh dk;Z {kerk dh nksxquh
gS] rks yM+dk c¢frfnu fdrus :lk;s dekrk

gS

\

(a) Rs. 53+ (b) Rs. 56—
(c) Rs.44— (d) Rs. 40—
A daily-wages labourer was engaged for a

certain number of days for Rs. 5,570; but
being absent on some of those days he was
paid only Rs. 5,000. What were his maximum

possible daily wages?/ Teh f¢gmar Halql Fr
T & fov v Afegd gear # G &
T SH1H 9 F¥MAT I-™AT AT| 5,570; oifhed
A @ Fo fedl d quieyd WA F
FRUT 3¢ hdel T. I I fohar |
5,000. 386 HUFHAR FH S A
F7 o

(a) Rs. 125 (b) Rs. 250

(c) Rs.375 (d) Rs. 500
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21.

22.

23.

24.

A and B con do a piece of work in 12 days, B
and C in 8 days and C and A in 6 days. How
long would B take to do the same work

alone?/ A 3T B Tsh &1 &I 12 fear &
#d &, B3R c8 Al 7 3 c3ik A6
et & g &1 3 IR A 3 S H

B I Tohdlell HHI ol3Na?
(a) 24 days (b) 32 days
(c) 40 days (d) 48 days

A does % part of work in 15 days. After that

he completes the remaining work in 4 days
with the help of B. in how many days will A

and B together do the same work?/ A ShTH hl
7/10 AT 15 AT # HIaT g1 39 d1¢ g
AV & # B I Heg § 4 feall & q@
AT gl A R B e 38 &7 &
fohcer feail & o1 e

(a) 10 days (b) 12> days

(c) 13— days (d) 8- days

% part of the tank is full of water. When 30
litres of water is taken out, the tank becomes
empty. The capacity of the tank is/ T AT

3/4 HIIT 9T & T g1 I 30 oileX 9r=lr
AT STar g, ar Ehr @relr @ Srar g
& I &THTT 87

(a) 36 litres (b) 42 litres

(c) 40 litres (d) 38 litres

A tank is fitted with two taps. The first tap can
fill the tank completely in 45 minutes and the
second tap can empty the full tank in one
hour. If both the taps are opened alternately
for one minute, then in how many hours the

empty tank will be filled completely? / T
&F H & A T §| UG ol T HI 45
e @ Q@ WE W dhar § AR gqEw
o QX G W T G F @rel B A

25.

26.

27.

2 afy Qe Tt Fr SH-ad ¥ s B
F foT @ &ar AT, ar @reir e fohder
g # qf R e

(a) 2 hours 55 minutes (b) 3 hours 40
minutes
(c) 4 hours 48 minutes (d) 5 hours 53

minutes

A started business with Rs. 45,000 and B
joined after ward with 30,000. If the profit at
the end of the one year was divided in the
ratio 2 : 1 respectively, then B would have
joined A for business after./ A us ,d O;kikj
dh ‘kq:vkr esa 45000 dh iwjth fuos’k dh
rFkk dqN le; ckn B 30,000 fuos’k dj ml
O;kikj esa ‘kkfey gks x;kA ;fn ,d 0”’kZ ds
vUr esa mUgsa 2 % 1 ds vuqikr esa
YkkHk c¢kir gqvk gks rks Kkr djsa B
fdrus le; ds ckn O;kikj esa ‘kkfey gqvk\

(a) 1 month (b) 2 month
(c) 3 month (d) 4 month
X and Y are partners in a business. They invest

in the ratio 5 : 6, at the end of 8 months X
withdraws his capital. If they receive profits in
the ratio of 5: 9, Find how long Y’s investment

was used?/ X 3R Y U =Iaq g & ARNER
€1 9 5:6% HeqId H e X &, 8 7RI
& AT FH X7 G e o gl A
376 5:9 % 3MUIT H o1 e giem g, ar
AT H F Y F F9U Fda 7T IF
39T fRar I ar A

(a) 12 months (b) 10 months

(c) 15 months (d) 14 months

A batman in his 12" inning makes a score of
63 runs and there by increases his average
score by 2. What is his average after the 12"

innings?/ T&h Sooldlol 39l 1247 9RY &
63 3T §oI1cT & 3R 389 38T 3iad TR
2 9¢ ST g1 1287 9y & 91 39 3iEd
FaT B?
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28.

29

30.

31.

(a) 13 (b) 39

(c) 41 (d) 87

A cricket player after playing 10 tests scored
100 runs in the 11" test. As a result, the
average of his runs is increased by 5. The

present average of runs is:/ Teh fohahe
f@emdr & 10 ¥ Wold & &1 119 & H
100 I SATC| IRUMAEIEY, 38% TGl A
drad 596 T 1 @ H adA AEd
g

(a) 45 (b) 40

(c) 50 (d) 55

. The batting average for 30 innings of a cricket

player is 40 runs. His highest score exceeds his
lowest score by 100 runs. If these two innings
are not included, the average of the remaining
28 innings is 38 runs. The lowest score of the

players is:/ Ush fohche T@emsr &1 30 gt
FT Toolarol AT 403 &1 3T 3IdH
THR 3P 7gAdH TR I 100 37 3ifAh
gl Ife g7 or At o enfAe =g fomam
ST & AY 28 UIRAT 1 AT 38 I B
TQernfsal &1 sgeaa Fh §:

(b) 18

(a) 15

(c) 20 (d) 12

The difference between the greatest and least
numbers which are less than 100 is / 100 &
SH HT FIH F97 AR FEU BIE dEAT &
T & IR 82

(a) 95 (b) 96

(c) 97 (d) 94

Two numbers are in ratio 5 : 8, if their
difference is 48, then the smallest numbers is

/ 3 WEAT 5:8% I[Ad H g, ARG ST
3T 488, A Y DI TEAT g2

(a) 64 (b) 80

32.

33.

34.

35.

36.

37.

(c) 96 (d) 128

The number 14221 is divisible by/ TEAT
14221 T8 {aey &2

(a) 19 (b) 7
(c) 9 (d) 13
Fill in the smallest digit that will make

93856_294 divisible by 9? / I TId oieT

3% Y SO 93856 294 9 ¥ TIUTST &
STT?

(a) 0 (b) 4
(c) 5 (d)8
Which of the following is a perfect square?/

fArfaf@a # @ e a1 e qoT a9t &2

(a) 3497497 (b) 4587632

(c) 1046529 (d) 1034758

If —

= 0.0396, then the value of !

25.25 0.0002525
. il N 1
will be / TE —= = 0.0396, Al —ooooe
T AT GIITT?
(a) 3960 (b) 39600
(c) 0.0000396 (d) 0.000396

Given that, three numbers are such that the
second number is twice the first and thrice the
third. Also the average of the three numbers is
44. Then the difference of the first and the

third is/ f&am I=r § 5, I eI oy §
& q@ll ¥Ear ggell & Qe 3R el
O e e g1 @y & el denst #
T 4481 @ ggelr IR T T IR B

(a) 10 (b) 11
(c) 12 (d) 13
Fill in the largest digit that will make

236953_876 divisible by 11?/ g HEY 3T
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38.

39.

40.

41.

42.

3 Y S 236953 876 & 11 ¥ T
T &7

(a) 7 (b) 8

(c) 9 (d)3

Ifa = (0.4)", b = 0.04andc ==, then the
correct relationship among the three is/ gfe
a=(0.4)"b=004 IR c=L a ot
& T HEr G99y g?

@ b>a>c (b)a>b >c

(c)a >c >d (d)c > a > b

Which is the largest among the number

37,4135,/ TEAT 37,4/13,5,
A T wE Fhe A d

(a) \/5 (b) 347

(c) 4\/E (d) all are equal

A number when divided by 44, gives 432 as
quotient and 0 as remainder. What will be the
remainder when dividing the same number bt

31?/ T HEAT & o9 44 ¥ fQsnfaa far
ST &, d HETRA & ®9 H 432 3R
AYhel & ®T H 0 9red gidar gl 34T d&ar
F 31 ¥ TAuSd e W AYhS FT
glam?

(a) 3 (b) 4

(c) 5 (d)6

the number 334x545X7p is divisible by 3340
then what is the minimum value of P ?/ J&T
334x545x7p 3340 ¥ fassg g o P &
TeATH ATl T 82

(a) 2 (b) 4

(c) 3 (d)1

The digit at hundred’s place value of 171 is /

e & TIT AT W 3F 17182

43.

44,

45.

46.

(a) 1 (b)0

(c) 2 (d)3

What is least possible number when it is
divided by 13 leaves 8 and when divided by 7
leaves 8 and when divided by 7 leaves

remainder 6?/ dg oldH ToTfad g&ar
FT @ § T 13T ST & W 8
gaar g 3R 78 [AAST A W 8 §AqdT
g 3R 7 @ QARSI A W AR 6

AT 82

(a) 48 (b) 34

(c) 40 (d) 41

What decimal of a week is an hour ?/ T
TCdlg &1 Hid TT SAAAT Ueh HeT g2l
HiT T SUAHIT Teh HeT g2

(a) .0059 (b) .0062
(c) .062 (d) .059
When a number is divided by 5, the remainder

is 3. What will be the remainder when sum of
cube of that number and square of that

number is divided by 5?/ S& TRIT I&AT i
5 9 Qe fFar Srar § @ A9wa 3
gidar gl 99 39 "§&d & ud 3R 39
HEAT & g1 & A1 & 58 faenfaa fhar
ST g, df AYHS FIT glem?

(a) 1 (b) 2
(c) 3 (d)4
In a AABC, AD and BE are altitudes on side

BC and AC respectively. O is the orthocenter. If
AO = 9,0D = 2, and OE = 3 unit the

length of side AB is?/ AABC H, AD 3iR BE
SRl e BC 3R AC W a5 g1 0
rafder &1 afe Ao=9,0p=2, 31X OF = 3

SHIS & o M ABHT &S §
(a) 1/151 (b) /152
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47.

48.

49,

(c) /153 (b) /154

In a triangle PQR, PX, QY and RZ be altitudes
intersecting at O. If PO =6 cm, PX = 8 cm and
QO = 4 cm, then what is the value (in cm) of

Qv?/ UH TS PQR H, PX, Qv 3R RZ &Y
a5 0 W yfadwde FLdr gl Ifc Po =6
QA px =8 QAT 3R QO =48#T g, Qv
AT (G ) F2r 872

(a) 6.3 (b) 5.8

(c) 6 (d) 7

AABC, the perpendiculars drawn from A, B
and C meet the opposite sides at D, E and F.
respectively. AD, BE and CF intersect at point

P. if ZEPD = 1220 and the bisectors of 2£A
and 2B meet at Q. then the measure of

2AQBis:/ AABG, A, B 3R cH W 3T o
$AT: D, E IR F R fAulid o3t @
fAera €1 Ap, BE 3R ¢F [Nig PR gfaeda
A & T 2EPD = 122°3R A 3R B
& HHG[AHTS QI A §1 dl 2AQB &I
A9 &

(a) 122° (b) 119°

(c) 117° (d) 124°

In triangle ABC, £LABC, £A = 52 and O is the
orthocenter of the triangle (BO and CO meet
AC and AB at E and F respectively when
produced). If the bisectors of 2OBC and
£20CB meet at P, then the measure of 2ZBPC

is:/ T38[T ABC #, LABC,£A=52 3iR O f3g[eT
T cdeheg & (J 9 BO 3R €O FHA:
AC 3R AB & E 3R F R fAea §) 3fg
£0BC 3{R £0CB & HAGIIHATSIH P I fHerd

g, ar «BPC&T HIT §:
(a) 138" (b) 124°

(c) 132° (d) 154°

50.

51.

52.

53.

Find the area of triangle when length of all the
three altitudes are 10 cm, 12 cm and 15

cm?/TIST FT &Rl AT RAT ST A=A
MN¥ersl Fr e 10 J4, 12 I 3R 15
T 8?2

250 240
(@)= (b) ==
200 280
(© =5 (d) =7
A water tap fills a tub in ‘p’ hours and a sink at

the bottom empties it in ‘q’ hours. If p < q and
both tap and sink are open, the tank is filled in

‘t’ hours; then/Teh Uil &l oJof Ueh &g &l
'pEC H M oar g IR AT Rua s
& 389 'q'g¢ H T@lell N &l ¢l IS p
<q3ﬂTHﬂ'3ﬂTﬁ?aﬁ@%,HTéﬂ?'r'
¢ #H R AT §; a9

1 _ 1,1 L _ 1) jus
@—-=>+7 (b) == —k¥y

r=p+q (dr=p—-gq

Three pipes X, Y and Z release three different
chemicals A, B and C in a tank. These pipes can
fil the tank in 20, 25 and 40 minutes
respectively. If all the pipes are left open for
10 minutes, what will be the ratio of chemical

B in the tank/cdlleT 9187 X, Y3iR zT&h & &
T 3TeRT=37elT @R A, B3 corsd &1
I gy &F P HAA: 20, 25 AR 40 AT
H R god &1 I ash gt & 10 Fee
& fou ger vz fear e, @ 3 #
AT BT eJUTd T glamm?

(@a/7 (b) 13/23
(c)8/23 (d) 11/15
A pump can fill a tank with water in 7.5 hours.

Because of a leak in the tank it takes 50
minutes more to fill the tank. The leak can

drain all the water from the tank in/Tch uq
Teh cohl &l 7.58¢ H U6 ¥ 9 TehdT gl
THT H AT & HROT TH Fl W H 50
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54.

55.

56.

fAsTe 31fee oera &1 Raa & & &1 arr
T S gandr &7

(@) 75 hrs (b) 25 hrs

(c) 80 hrs (d) 50 hrs

A and B are two pipes which can fill a tank
individually in 20 minutes and 24 minutes
respectively, however there is a leakage at the
bottom of tank which can empty the filled
tank in 30 minutes. If the tank is empty
initially, how much time will both the taps
take to fill the tank (leakage is still there)?/A

3R B usy § S UH EF & FAA: 20
fAse 3R 24 fAse 7 X @oa §, grenifh
¢h & fger #eT A T RA@ g S W
U & 1 30 fAeie & @rell & el B
gfe ¢ Y& H el g, o el 7 o A
WA H frder GAT o (RA@ i oY
8)?

(@) 13—m|nutes (b) 17—m|nutes

(o) 17—m|nutes (d) 12—m|nutes

Pipes A, B and C can fill a tank in 30 h, 40 h
and 60 h respectively. Pipes A, B and C are
opened at 7 a.m.,, 8 a.m., and 10 a.m,,
respectively on the same day. When will the

tank be full?2/939 A, B 3R ¢ & &F &r
ShART: 30 €T, 408C IR 60TC H I Tehd
gl usT A B3R cuw & T # wmA;:
geE 799, 9§ 899 AR Geg 1099 @it
ST &l T e §EEM?

(a) 10.20 p.m. (b)10.00 p.m.

(c) 9.40 p.m. (d) 9.20 p.m.

Two pipes could fill an empty tank in 20 hrs.,
28 hours respectively while a third one can
drain the filled tank in 35 hours. If the outlet
pipe was closed 3 hours before the tank got
filled and second pipe which can filled cistern
in 28 hrs., also closed 4 hrs. before the cistern
is filled, how many hours since the beginning

57.

58.

59.

did it take to fill the tank?/aI U89 U WTell
¢ I HAA: 206C, 28T H WX Thd ¢
STEfeh T 9159 #R §U & AT 35EC A
Grell T Fohcl gl TG &F a1 & 36
Ugdl 33coe WY S¢ AT feAr awm v
3R GEY sy St Ehr A 28 B H O
Thdl &, 8 oY 46 F d¢ = Gar
AT TH A T T, TS & TH A
A A fhder ¢ o@r?

(a) 18 hr30 min (b) 16 hr 45 min

(c) 17 hr 15 min (d) 20 hr 10 min

P can do (L)“‘ of work in 10 days, Q can do

40% of work in 40 days and R can do ( )“’ of
work in 13 days and S can do 37.5% of work

in 17 days. Who is less efficient?/p (%)“‘
FH 10 AT H X ThdT &, Q 40% FIH 40
et & & Fear § IR R (2)'da:m13
feat & X \ahar § 3R S37.5% FH 17
el & T T §1 FleA FH FAST 82

@P ®)Q
(©R s
A can do 50% of the job in 16 days, B can do

1/4™ of the job in 24 days. In how many days
can they do 3/4™ of the job working

together?/A 50% F1T 16 eIl H T FehdT
S, B1l/4 A 24 &t H X Hhar g1 9
TH AT HHA I 3/4FH fhaa At &
QT A Hehdd &7

(@) 24
(021

(b) 16
(d) 18

A can do 40% of a work in 12 days, whereas
B can do 60% of the same work in 15 days.
Both work together for 10 days. C completes
the remaining work alone in 4 days. A, b and
C together will complete 28% of the same

work in:/A fRET ST FT 40% 12 T &
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60.

61.

T GohdT g, Sidfer B 3dT ST T 60% 15
fat & o Thar g1 g 10 et T
YT FH T g1 CAY FF 3o 4 fear
H qU AT g1 A b3 C A 38+
T 28% 19T fhdel THT H U HL:

(b) 2 days

(d)?2 % days

(a) 3 days
(o1 % days

P and Q together can do a job in 6 days. Q and
R can finish the same job in 6—70 days. P

started the work and worked for 3 days, Q
and R continued for 6 days. Then, the
difference of days in which R and P can

complete the job is/P 3R Q e TH
FH 6Tl H X Thd &l Q3R RIFAA
FE F 2~ G 7 @ X wwd § P A
e A& fhar AR 3feat do we fhar, Q
IR RA 6l d& A A @1l an, R
3 Peal & qU R # frae st
HI 3R 8?7

(@) 15
(c)8

A can do a piece of work in 10 days and B can
do it in 12 days. They work together for 3
days, then B leaves and A alone continues. 2
days after that, C joins and the work in
completed in 2 days more.. in how many days

can C do it if the works alone?/A U HIH I
10 &t # & Fohar g 3R B3 12 feat
H N Thdar g1 & 3 el dk T Ty
FIH A &, T BBIS &ar § 3R A 3kl
g P IRT @dr g1 38+ 2 fed 15, C
MACT & Srar & 3R P 2 feat 3R qu
8 AT §. I C3rahel 1 AT § o 98
SU fopcer fealt 7 o R TRaT 87

(a) 30 day (b) 50 days
(d) 60 days

(b) 10
(d) 12

(c) 40 days

62.

63.

64.

A, B and C can do a work separately in 18, 24
and 27 days respectively. They started the
work together but C left after 7 days and B
four days before the completion of the work.

In what time is the work finished?/A, B 3iR
CUFH I &I cAI-3TcAdT haAel: 18, 24 3R
27 @Al # X Hhd gl 3ol Th Y
HH & Far dfst ¢ 715 a1g 3k B
A HH QA § IR T gel oIs ol
S forda AT & AT & =

(€)) 9% day (b) 8% days

) 10— days d) 7= days
() 9 y () 6 y

A number N when divided by divisor D gives
a remainder of 52. The number 7N when
divided by D gives a remainder of 4. How

many values of D are possible?/T& HEAT N
A HSTH DI AHTAT el W AVHT 52
grcd glar gl §&ar 7N & D § fasnfaa
e G AV 4 UTcd g gl Do fohael
AT 999 87

(@6 (b) 4
©5 (D7
When a number is divided by certain divisor,

the remainder is 46. If another number is
divided by same divisor, it leaves remainder
31. If the sum of both the numbers is divided
by the same divisor, it gives remainder 19.

Find divisor./ST Teh T&AT &l Teh fATad
o & AT fohar Srar g, ar Auwd
46 gar g1 Ife TRl 3T I&ar & 34T
o A AAITST fohar Srar g, ar v
31 T gl TG QAT &I & IET @l
T & o @ Renfaa fRar arar &, ar
QYRS 19 YT BT gl Al AT F?

()56

(b) 50

(c) 58 (d) 64
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65.

What is the remainder when (12797 + 9797)
is divisible by 322/39 (127 +97 )&
o & ar Ak FAT grem?

@7 (b) 2
(©4 (d)o

66. What is the remainder when
(756" — 412°%) is divisible by 86?/ ST

67.

68.

69.

70.

(756°7° — 412°7) & RwsT & o AT
FIT BIEAM?

@5 (b) 2

(©o (d) 3

What is the remainder when

34 — 156 is divisible by 259?/ 259
17" — 156°"™) is divisible b 2/

s (34177 - 156" ¥ Rersw @ a

AYHeT FIT GIIT?

(a)o (b) 2

()7 (d)3

What is the remainder when we divided
5 +7 by 372/59 (5" +7 ) dks 37
Is foHkkftr fd;k tkrk gS rks fdruk ‘ks”’kQy

cprk gS

(a) 5 (b) O

(c) 7 (d) 1

20°%%° + 16°°%° — 3%°° _ 1) is divisible by:
(202020 + 162020 _ 32020 — 1) fdlls foHKKT;
gS

(a) 317 (b) 91

(c) 253 (d) 323

Find the last two digits of the expression of
64°" + 64x, when ‘X’ is any positive number/
647 + 6", & chotw & 3fAA & 3F A
AT, ST 'x' P UATCHS T&IAT §I?

(a) 10

(b) 11

(c) 00 (d) 01

71.

72.

73.

74.

75.

76.

If a and b are two odd positive integers, by

which of the following integers is (a4 - b4)

always divisible?/af¢ a 3R b ar RAwe
Yellchsh quiieh &, of foeafaf@a & @
e guffs @ (' — py@&a fasmsa gar
g2

(@3
()8

If a number is divisible by both 11 and 13,
then it must be necessarily divisible by:/afc

P FEar 11 3R 13T & [Qaey & ar
3Y TS &7 A QAT glar a1fRT:

(a) (11 + 13)

(b) 6

(d) 12

(b) (13 -11)
() (11*13) (d) N.OT.

83462*704 is divisible by 3, then the sum of
possible digits in place of * is/83462*704, 3 a
faarsT g, @ * & T W gaifada et
T T g

(@17 (b) 15

(©) 16 (d) 19

If a 9 digit number 389%x6378 y is divisible by
72, then the value of \/6x + 7y will be:/3fe
9 3ol HT HEAT 389x6378 y, 72 ¥ THTSH

g, dl \/6x + 7yl HT gIom:

(@)s8 (b) 6

(c) /46 (d)~/13

If 11-digit number 5678x43267 y is divisible

by 72, then the value of \/5x + 8yis /3f¢ 11
37T I GEIAT 5678x43267 y, 72 ¥ A=

2, a \5x + 8yl AT &
(@4
©7

If the 8-digit number 1a 765 b12 is to be
divisible by 72, the least value of (2a + 3b)is

(b) 6
(d) 8
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77.

78.

79.

80.

: ;fn 8&vadh; la[;k 1a 765 bl2 , 72 Is
foHKKT; gS] rks (2a + 3b) dk U;wure eku
gSA

(@10 (b) 9
(0)12 (d) 11
If the 10-digit number 897359y7x2, is

divisible by 72, then what is the value of
(3x + y), for the possible greatest value of y
?;fn 10 vadks dh la[;k 897359y7x2 172 Is
foHKKT; gS] rks y Is laHkkfor Icls cM+s
eku ds fy, (3x + y) dk eku D;k gS

(@3 (b) 8
©7 (d)5
If the 6-digit number x35624 and 1257y4 are

divisible by 11 and 72, respectively, when is
the value of (5x — 2y)?;fn Ng vadks okyh
la[;k;s x35624 vkSj 1257y4 @e’k% 11
vkSj 72 Is foHkkT; gS rks (5x — 2y) dk
eku D;k gksxk\

(a) 14 (b) 12
(c) 10 (d) 13
If the nine digit number 708x6y8z9 is

divisible by 99, then what is the value of
+ y + z?;fn 708x6y82z9 okyh ukS vadks

okyh la[;k 99 Is foHkkT; gS] rks
x +y + zdk eku D;k gS\

(@) 27 (b) 5

(o) 16 (d)9

The perimeter of an isosceles triangle is 3.6

m and its base is 30 cm shorter than each of
the equal sides. What is the area (in m?) of

the triangle?/ T& 'Hﬂ'c[%ﬁ@ [EECEER
IR#AT 3.6 AleX g IR TP YR T+
AT T § 30 WA DT &l [y &
&% (TH2H) FT 87

(@) 0.6
(c) 0.54

(®) 0.72
(d) 0.8

81.

82.

83.

84.

85.

In an isosceles right-angled triangle, whose
perimeter is 2p cm then find the area of

triangle?/ T& Flﬂ'q'ﬁ'@l‘lt{;’ THEHOT ST A,
e aR@m 2p @ & ar B &
&% AT hIToTu?

@ (3 + 2/2)pem’ ®)
(3 - 2\/E)pzcm2
© (2 +2)pem’ @

(2 + \/E)pzcm2

If the height of an isosceles triangle is 20 cm
and the perimeter is 100 cm. Find the area of

the triangle?/afe ve wrgfastg Peger
>ars 20 ¥&T § 3R aRfer 100 @+ gl
o7 & &1 athel AT HIfSiA?

(a) 300 (b) 500
(c) 420 (d) 630
AABC is an isosceles triangles with

AB=AC=13 cm, AD is the median on BC from
A such that AB=12 cm. the length of BC is

equal to:/AABC T&Hh Hﬂ?{ﬁﬁ'@' [EEC I
fSgd AB=AC=13 @# §, AD,A¥ BC W
AT g foad AB=12 §#T &1 BC &

CEIERCRCE

(@A)5cm (b) 7.5 cm
(©)10cm (d) 6 cm
In an isosceles triangle ABC, AB=AC and AD

is perpendicular to BC. If AD=33 cm and the
perimeter of AABC is 242/T& Hﬂ?{ﬁﬁ@'
f387sT ABC #, AB=AC 3iR AD, BC ¥ of&dd

gl Ife AD=33 & 3iR AABC &1 9R&AT
242%

(a) 56 (b) 72
(c) 65 (d) 75
In the given figure, O is the centre of the

circle and ZRPQ = 500, then what is the
value of ZRPQ (in degree) ?/fcU a0 =7 #,
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86.

87.

88.

0O gd & &g § 3HR 2RPQ =500 §, oF
LRPQ &1 AT (33l &) Far1 &2

(a) 15 (b) 25°

(c) 20 (d) 30°

In the given figure O is the centre of the circle.
If angle PRQ = 640, then what is the measure
of angle OPQ?/ feu 3t AT A O dd ol
Fe &1 I Ao PRQ = 64° B, A FHIUT OPQ
FT AT FIT 82

(a) 26° (b) 32°

(c) 64° (d) 60°

To a circle with centre at O, two tangents AP
and AQ are drawn from an external point A. If
the 2PAQ = 80", then the £P0OQ is:;/ O T
de arel U gd W, el &g AG & w9l
WU AP 3 Aq ©RT ardr § 3fg

£PAQ = 80°,ar <pPoQ %:

(a) 90" (b) 80°

(c) 70° (d) 100°

In a circle with centre O, PA and PB are
tangents to the circle at A and B, respectively,
from an external point P. If LAOB = 1160
then what is the meausre of ZOPB?/ Fe 0
alel T g #, PA IR PB IEY fdg P&
$hA: A AR B W gd H T W@
If& LAOB =116’ & @ 20PB &T AT T

&?

(a) 32 (b) 90°

89.

90.

91.

92.

(c) 58" (d) 30°

In a circle with center O, AB is a diameter and
CD is a chord such that ZABC = 340 and CD =
BD. What is the measure of ~DB(C?/ ¢ O

arel gd #, ABTeh <I1H § 3 €D U Sitar
T 3T B z4BCc =34" 3R cD = BD ¥
£DBC T HATT FAT §?

(a) 30" (b) 24°

(c) 32" (d) 28°

In a circle with centre O, point A,B,Cand D in
this order are concyclic such that BD is a
diameter of the circle. If ZBAC = 22°, Then find

the measure ( in degrees) of £COD./ Fg 0
arel g #, fdg A, B, C3IR D3H HA |
ThT § o f& BD g9 @ I Bl AR
£BAC =220 g, d «coD & AT (33 #)
EIGECAIE I

(a) 158 (b) 68

(c) 79 (d) 136

In the given figure, 2DBC = 65° , 2zBAC = 35°
and AB = BC, then the measure of 2ECD is
equal to;/ &1 g TR f gl
#, .DBC = 65°, £BAC= | . Ay
35 3R AB = BC, & |

£ECD &1 ATT SJT&X &

(b) 65" (b) 45"

() 50" (d) 55"

PQRS is a cyclic quadrilateral. If £P is 4 times
<R, and £S is 3 times £Q, then the average of
£Q and <R is:;/ PQRS Teh Thry Telsl Bl
e 4P, LRFT 4T & 3R £S, 2Q 7 3
e B, dr 2Q 3R R JHET &

(a) 40.5° (b) 45.7"
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93.

94.

95.

96.

(c) 90° (d) 81°

In the given figure, pq is the diameter of the
circle. what is the measure of 2QSR?/ QU
v T #, pq ga F A gl QSR &
AT &7 87

(b) 51° (b) 37°

() 47° (d) 43°

A quadrllateral ABCD is inscribed in a circle
with center O. If 2BOC = 92° and 2ADC =
112°, THEN £ABO is equal to:/ Ueh <IJe]sT
ABCD &g drdd Us gd # 3ifdha g1 afe
<BOC = 920 3iR £ADC = 1120 &, dr 2ABO
e &

(a) 22 (b) 24°

(c) 28" (d) 26°

ABCD is a cyclic quadrilateral. Diagonals BD
and AC intersect each other at E. If £BEC
=128° and 2ECD = 25° then what is the

measure of 2BAC?/ ABCD Ush Tsh <Iqeiot
¢l fa@ol BD 3R AC T g&l &I EW
Fed §1 Tfe £BEC =128° 3iR £ECD = 25°
g, 2BACST AT T &7

0

(a) 98 (b) 93°

(c) 103° (d) 104°

PA and PB are tangents to circle with center O,
from a point P outside the circle, A and B are
points on the circle. C is a point on arc AB, if

2ACB = 71°, then 2APB is equal to:/ PA 3X
PB &g 0 dldl g WX Tl @I g, 9 &

97.

98.

99.

100.

S U fig P @, A 3R B g W fag gl
a9 ABWR CTh fdg 8,97 £ACB="710%,

ar £ZAPBSIeX &
(a) 38" (b) 39°
(c) 55 (d) 32°

In the given figure, find the ZP0Q?/ fGT 31T
&3 #, £P0Q FTd Fifau?

(b) 55° (b) 65°

(c) 70" (d) 60°

In a circle with center O, AB is the diameter
and CD is a chord such that ABCD is a
trapezium if ZBAC = 23°, then 2CAD is equal

to:/ g Odlel Ush gd #H, ABeIH & 3R
CD U Siar § 19 f& ABCD Ush THWT g
gfe «BAC=230%,dl 2CAD &R &:

(a) 52" (b) 38°

(c) 44 (d) 46°

In a circle, chords AD and BC meet at a point
outside the circle. If ZBAE=76" and £ADC =

102°, then £AEC is equal to:/ T&h I &,
SfaT AD 3R BCJd & agX Ush fog W
o &1 afe 4BAE=76° 3R 2ADC =
102°, ' LAECSJTsR g

(a) 28° (b) 25°
(c) 24° (d) 26°
In a circle with centre O, PAX and PBY are

the tangents to the circle at points A and B,
from an external point P. Q is any point on the
circle such that £QAX = 59° and 2QBY = 72°.
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What is the measure of ZAQB?/ g O dTel
T gd #, PAX 3R PBY STE{l fdg P fog
A3R BW ga & ToR@ g1 Qgd W
#1s fdg & o9 fF 2QAX =590 31T £QBY
= 7201 FIAT § 2AQBHI HI?

(a) 31° (b) 72°

G.S.) PART 111

(c) 59" (d) 49°

Which one of the following animals is
cold-blooded?/ fuEufyf[kr esa Is dkSu
Ik tkuoj BaMs [kwu okyk gS\

(a) Dolphin/ M,fYQu (b) Shark/
'kkdZ

(c) Whale/ Ogsy (d) Tortoise/
dNqvk

Which one among the following nutrients
is a structural component of the cell wall
of plants? / fuEufyflkr iks"kd rRoksa
esa ls dkSu Ik ,d ikS/kksa dh dksf'kdk
fHkfUk dk lajpukRed ?kVd gS\

(a) Manganese/ eSaxuht
(b) Potassium/ iksVsf'k;e
(c) Phosphorus/ QkLQks;jl
(d) Calcium/ dSfY'k;e

In honey, which one among the following
sugars predominates?/ 'kgn esa
fuEufyf[kr esa Is fdl 'kdZjk dh ¢/kkurk
gksrh gS\

(a) Sucrose/ |qDkst
(b) Fructose/ YqDVkst

(¢) Galactose/ xSysDVkst
(d) Maltose/ ekYVkst

Roots develop from/ tM+ksa dk fodkl
gksrk gS

(a) Radicle/ jsfMdy (b) Plumule/ lyE;wy

(c) Stem/ ruk (d) Leaf/
iUkh

Which of the following is not a
micronutrient for a plant?/ fuEufyf[kr
esa Is dkSu Ik ikS/ks ds fy, lw{e
iks"kd rRo ugha gS\

(a) Iron/ vk;ju
(b) Magnesium/ eSXuhf'k;e

(¢) Molybdenum/ eksfyCMsue

(d) Manganese/ eSaxuht

Which one among the following is the
hardest part of our body?/ fuEufyf[kr
esa Is dkSu Ik gekjs 'kjhj dk Icls
dBksj Hkkx gS\

(a) Skull bones of head/ flj dh [kksiM+h
dh dfi;k;j

26 | MOB: 9795977779, 9795977776 LUCKNOW, DEHRADUN ‘COME TO LEARN...GO TO SERVE...!



10.

11.

(b) Thumb nails/ vaxwBs ds uk[kwu
(c) Enamel of teeth/ nkarksa dk busey
(d) Spinal vertebra/ jh<+ dh gih

The main thinking part of the brain is/
efLr"d dk eq[; Ikspus okyk Hkkx gS

(a) Midbrain/ feMczsu

(b) Hypothalamus/ gkbiksFkSysel
(¢) Forebrain/ vxzefLr"d

(d) Hindbrain /i'p efLr"d

Which one is a bacterial disease?/ dkSu
Ik thok.kq jksx gS\

(a) Ringworm / nkn (b) AIDS/ ,M~I

(c) Malaria/ eysfj;k (d) Leprosy/ dq"B
jksx

Vitamin-B12 is produced by/
foVkfeu&ch12 dk fuekZ.k gksrk gS

(a) Pseudomonas/ L;wMkseksukl

(b) Ashbya gossypii/ v'C;k x,flih

(c) Acetobacter/ ,flVkscSDVj

(d) Chlorella/ Dyksjsyk

Which one of the following is not a
greenhouse gas?/ fuEufyf[kr esa Is
dkSu Ih xzhugkml xSl ugha gS\

(a) Water vapour/ty ok"i
(b) Methane/ ehFksu
(c) Ozone/vkstksu

(d) Carbon monoxide/ dkcZu
eksuksv,DIkbM

Which one among the following is not a
chemical change?/ fuEufyf[kr esa Is
dkSu Ik jklk;fud ifjorZu ugha gS\

12.

13.

14.

15.

16.

(a) Curdling of milk/ nw/k dk QVuk

(b) Ripening of fruits/ Qyksa dk iduk

(c) Evaporation of water/ ikuh dk
ok"ihdj.k

(d) Burning of coal/ dks;ys dk tyuk

Which one among the following is an
element?/ fuEufyf[kr esa Is dkSu Ik ,d
rRo gS\

(a) Graphite/ xzsQkbV
(b) Glass/ Xykl
(c) Brass/ ihry
(d) Steel/ LVhy

The law of constant proportion was
proposed by/ fLFkj vuqikr dk fu;e fdlds
}kjk ¢Lrkfor fd;k x;k Fkk\

(a) Proust/ gkmLV

(b) Einstein/ vkbalLVhu
(c) Richter/ fjDVj

(d) Dalton/ MkYVu

The number of aluminium ions present in
54 g of aluminium (atomic weight = 27)
is/ 54 xzke ,Y;qehfu;e Yiijek.kq Hkkj %
27%> esa mifLFkr ,Y;gehfu;e vk;uksa
dh la[;k gS

(a) 2 (b) 18

(©) 1.1x10>* (d) 1.2x10*

Electron was discovered by/ bysDV?,u
dh [kkst fdlus dh Fkh\

(a) Crookes/ @qDI

(b) J. J. Thomson/ ts ts Fk,elu
(c) Henry / gsujh

(d) Rutherford / jnjQksMZ

Zero group was introduced by/ 'kwU;
lewg dk ¢kjEHk fdlds }kjk fd;k x;k
Fkk\
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17.

18.

19.

20.

(a) Lother Meyer/ yksFkj es;j

(b) Mendeleev/ esaMsyho
(c) Ramsay/ jkels
(d) Lockyer/ y,d;j

The bond which is present between water
molecules is/ ty ds v.kqvksa ds chp tks
ca/ku gksrk gS og gS

(a) Electrovalent bond/
bysDV?ksosysaV cal/ku

(b) Covalent bond/ Igla;kstd ca/ku
(c) Hydrogen bond/ gkbM?kstu ca/ku

(d) Van der Waals’ bond/ oSu Msj okYI
dk ca/ku

The acid contained in vinegar is/fljds esa
dkSu Ik vEy gksrk gS\

(a) Acetic acid/ ,flfvd ,fIM

(b) Ascorbic acid/ ,Ld,fcZd ,fIM
(¢) Citric acid/lkbfvad ,fIM

(d) Tartaric acid/VkVZfjd ,filM

The reaction which takes place at the
anode is/ ,uksM ij gksus okyh ¢frf@;k
gS

(a) Oxidation/ v,Dlhdj.k
(b) Reduction/ deh

(c) Dissociation /i’ FkDdj.k
(d) Ionisation/vk;uhdj.k

The radioactive isotope of hydrogen is/
gkbM?kstu dk jsfM;ks/kehZ leLFkkfud
gS

(a) Hydrogen/ gkbM?kstu
(b) Parahydrogen/ iSjkgkbM?kstu
(c) Deuterium/MiwVsfj;e

(d) Tritium/ fV?fV;e

21.

22,

Consider the following statements : /
fuEufyf[kr dFkuksa ij fopkj djsa%

1. The Rajya Sabha has no power either
to reject or to amend a Money Bill/ jkT;
IHkk ds ikl /ku fo/ks;d dks vLohdkj
djus ;k la'kksf/kr djus dh dksbZ 'kfa
ugha gS

2. The Rajya Sabha cannot vote on the
Demands for Grants./ jkT; IHkk vugnku
ekaxksa ij ernku ugha dj IdrhA

3. The Rajya Sabha cannot discuss the
Annual Financial Statement./ jkT;IHkk
okf"kZd foUkh; fooj.k ij ppkZ ugha dj
IdrhA

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 1 and 2 only/ dsoy 1 vkSj 2
(c) 2 and 3 only/dsoy 2 vkSj 3

(d) 1,2 and 3/1] 2 vkSj 3

The provisions in the Fifth Schedule and
Sixth Schedule in the Constitution of
India are made in order to/ Hkkjr ds
lafo/kku esa ikjpoha vuqlwph vkSj
NBh vuqlwph esa ¢ko/kku fdl mis'; Is
fd;s x;s gSa\

(a) protect the interests of Scheduled
Tribes/ vuqlwfpr tutkfr;ksa ds fgrksa
dh j{kk djuk

(b) determine the boundaries between
states/ jkT;ksa ds chp lhek,; fu/kkZfjr
djsa

(c) determine the powers, authorities, and
responsibilities of Panchayats/ iapk;rksa
dh 'kfa;ksa] ¢ckf/kdkfj;ksa vkSj
ftEesnkfj;ksa dk fu/kkZj.k djuk

(d) protect the interests of all the border
States/ IHkh lhekorhZ jkT;ksa ds
fgrksa dh j{kk djuk
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23.

24.

Consider the following statements:/
fuEufyf[kr dFkuksa ij fopkj djsa

1. In India, the right to protest is a
fundamental right under Article 19 of the
Constitution./ Hkkjr esa] fojks/k djus
dk vf/kdkj lafo/kku ds vugPNsn 19 ds
rgr ,d ekSfyd vf/kdkj gSA

2. The Supreme Court, in the case of
Mazdoor Kisan Shakti Sangathan vs
Union of India, laid down guidelines for
regulating protests and demonstrations./
etnwj fdlku 'kfa laxBu cuke Hkkjr la?k
ds ekeys esa Iqche dksVZ us fojks/k
vkSj ¢n'kZuksa dks fofu;fer djus ds
fy, fn'kkfunsZ'k fu/kkZfjr fd,A

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 2 only/ dsoy 2
(c) Both 1 and 2/1 vkSj 2 nksuksa

(d) Neither 1 nor 2/u rks 1 vkSj u gh 2

Which principle among the following was
added to the Directive Principles of Stat
Policy by the 42nd Amendment to the
Constitution?/ lafo/kku ds 42o0sa
la'kks/ku }kjk jkT; ds uhfr funsZ'kd
fl)karksa esa fuEufyf[kr esa Is dkSu
Ik fl)kar tksM+k x;k\

(a) Equal pay for equal work for both
men and women/ iqg#"kksa vkSj
efgykvksa nksuksa ds fy, leku dke ds
fy, leku osru

(b) Participation of workers in the
management of industries/ m|ksxksa ds
¢cca/ku esa Jfedksa dh Hkkxhnkjh

(c) Right to work, education and public
assistance/dke] f'k{kk vkSj IkoZtfud
Igk;rk dk vi/kdkj

(d) Securing living wage and human
conditions of work to workers/Jfedksa

25.

26.

ds fy, thou;kiu etnwjh vkSj dke dh
ekuoh; fLFkfr;ksa dks Iqgjf{kr djuk

Consider the following statements about
the Ordinance:/ v/;kns'k ds ckjs esa
fuEufyf[kr dFkuksa ij fopkj djsa

1. Article 123 of the Indian Constitution
empowers the President to promulgate
Ordinances during recess of Parliament./
Hkkjrh; lafo/kku dk vugPNsn 123
jk"V2ifr dks laln ds vodk'k ds nkSjku
v/;kns'k tkjh djus dk vf/kdkj nsrk gSA

2. If the government fails to get an
Ordinance ratified by the Parliament, it
will lapse at the expiration of 6 weeks
from the reassembly of Parliament./ ;fn
ljdkj fdlh v/;kns'k dks laln Is
vugeksfnr djkus esa foQy jgrh gS]
rks ;g laln dh iqu% cSBd ds 6 lirkg
dh lekflr ij lekir gks tk,xkA

3. If an Ordinance is issued solely to
bypass the Parliament, the President’s
decision to promulgate the Ordinance can
be challenged in the court./ ;fn dksbZ
v/;kns'k dsoy laln dks njfdukj djus ds
fy, tkjh fd;k tkrk gS] rks v/;kns'k tkjh
djus ds jk"V?@ifr ds QSlys dks vnkyr
esa pqukSrh nh tk Idrh gSA

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu Ik/Is Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 2 and 3 only/dsoy 2 vkSj 3
(¢) 1 and 2 only/ dsoy 1 vkS;j 2

(d) 1,2 and 3/1] 2 vkSj 3

Local self-government can be best
explained as an exercise in/ LFkkuh;
Lo'kklu dks ,d vH;kl ds :i esa Icls
VvPNh rjg le>k;k tk Idrk gS

(a) Federalism/la?kokn

(b) Democratic
decentralization/yksdrkaf=d
fodsaaehdj.k
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27.

28.

(c) Administrative delegation/ ¢'kklfud
cfrfuf/lkeaMy

(d) Direct democracy/¢R;{k yksdra=

Consider the following statements:/
fuEufyf[kr dFkuksa ij fopkj djsa%

1. An Ordinance shall have the same
force and effect as an Act of Parliament./
,d v/;kns'k dk cy vkSj ¢Hkko laln ds
vf/kfu;e ds leku gh gksxkA

2. If the government fails to get an
Ordinance ratified by the Parliament, it
will lapse at the expiration of 6 weeks
from the reassembly of Parliament./ ;fn
lidkj fdlh v/;kns’k dks laln Is
vugeksfnr djkus esa foQy jgrh gS]
rks ;g laln dh iqu% cSBd ds 6 lirkg
dh lekflr ij lekir gks tk,xkA

3. If an Ordinance is issued solely to
bypass the Parliament, the President’s
decision to promulgate the Ordinance can
be challenged./ ;fn dksbZ v/;kns'k dsoy
laln dks njfdukj djus ds fy, tkjh fd;k
tkrk gS] rks v/;kns’k tkjh djus ds
jk"Veifr ds QSlys dks pqukSrh nh tk
Idrh gSA

How many of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa

Is fdrus Igh gSa/ gSal\ 29.

(a) Only one/ dsoy ,d
(b) Only two/ dsoy nks
(c) All three/rhuksa

(d) None/dksbZ ugha

Which of the following statements
accurately describe Parliamentary
Democracy in India?/ fuEufyf[kr esa Is
dkSu Ik dFku Hkkjr esa lalnh;
yksdra= dk IVhd o0.kZu djrk gS\

Statement I: The President of India is the
head of the government./ dFku I Hkkjr
dk jk"V2ifr ljdkj dk ¢ceq[k gksrk gSA

Statement II: The Prime Minister is the
head of the government./ dFku IT
¢/kkuea=h ljdkj dk ceq[k gksrk gSA

Statement II1:The President is elected by
the people./ dFku III jk™"V?ifr dk pquko
turk }kjk fd;k tkrk gSA

Statement I'V:The Prime Minister is
elected by the members of the ruling
party./ dFku IV ¢/kku ea=h dk pquko
IUkk/kkjh ny ds InL;ksa }kjk fd;k tkrk
gSA

Statement V:The Parliament consists of
two houses: the Lok Sabha and the Rajya
Sabha./ dFku V laln esa nks Inu gksrs
gSa% yksdIHkk vkS;j jkT;IHkkA

Select the correct answer using the code
below:/ uhps fn, x, dksM dk mi;ksx
djds Igh mUkj pqusa%

(a) Statement I, Statement II and
Statement IV/ dFku I,dFku II vkSj
dFku IV

(b) Statement 11, Statement IV and
Statement V/ dFku II] dFku IV vkSj
dFku V

(c) Statement II and Statement V/ dFku
IT vkSj dFku V

(d) Statement I1, Statement II1,
Statement IV and Statement V/ dFku 11,
dFku III, dFku IV vkSj dFku V

Consider the following statements about
the Finance Commission of India:/ Hkkjr
ds foUk vk;ksx ds ckjs esa fuEufyf[kr
dFkuksa ij fopkj djsa

1. It is constituted by the President every
five years or even earlier./ bldk xBu
jk"Vaifr }kjk ¢R;sd ikap 0"kZ ;k mlls
Hkh igys fd;k tkrk gSA

2. It consists of five members besides the
Chairperson./ blesa v/;{k ds vykok
ikap InL; gksrs gSaA

3. The Chairman of the Finance
Commission must be a person having
experience in financial matters and
administration./ foUk vk;ksx dk v/;{k
foUkh; ekeyksa vkSj ¢'kklu esa
vuqHko j[kus okyk O;fa gksuk pkfg,A
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30.

31.

How many of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is fdrus Igh gSa/gSal\

(a) Only one/ dsoy ,d
(b) Only two/dsoy nks
(c) All three/rhuksa
(d) None /dksbZ ugha

Consider the following statements
regarding the Election Commission of
India./ Hkkjr ds pquko vk;ksx ds
laca/k esa fuEufyf[kr dFkuksa ij fopkj
djsaA

1. The Chief Election Commissioner can
be removed from his office in the same
manner and on the same grounds as a
judge of the Supreme Court. / eq[;
pquko vk;qa dks mids in Is mlh rjhds
Is vkSj mih vk/kkj ij gVk;k tk Idrk gS
ftl rjg Is Igche dksVZ ds U;k;k/kh'k
dks gVk;k tk Idrk gSA

2. The Constitution has prescribed the
qualifications of the members of the
Election Commission. / lafo/kku us
pquko vk;ksx ds InL;ksa dh ;ksX;rk,j
fu/kkZfjr dh gSaA

3. The Constitution has not debarred the
retiring election commissioners from any
further appointment by the government./
lafo/kku us Isokfuo Uk pquko
vk;qaksa dks ljdkj }kjk fdlh Hkh vkxs
dh fu;qfa Is ugha jksdk gSA

How many of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is fdrus Igh gSa/gSa\

(a) Only one/ dsoy ,d
(b) Only two/ dsoy nks
(c) All three/ rhuksa
(d) None/ dksbZ ugha

Consider the following gatemen. /
fuEufyf[kr }kjikyksa ij fopkj djsaA

32.

1. Aadhaar card can be used as a proof of
citizenship or domicile./ vk/kkj dkMZ dk
mi;ksx ukxfjdrk ;k vf/kokl ds ¢ek.k ds
si esa fd;k tk Idrk gSA

2. Once issued, Aadhaar number cannot
be deactivated or omitted by the Issuing
Authority./ ,d ckj tkjh gksus ds ckn]
vk/kkj uacj dks tkjhdrkZ c¢kf/kdkjh
}kjk fuf'@; ;k NksM+k ugha tk ldrk
gSA Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 2 only/ dsoy 2
(c) Both 1 and 2/ 1 vkSj 2 nksuksa

(d) Neither 1 nor 2/ u rks 1 vkSj u gh 2

Consider the following statements with
regard to the President of India./ Hkkjr
ds jk"V?ifr ds laca/k esa fuEufyf[kr
dFkuksa ij fopkj djsaA

1. The President does not exercise his/her
discretion on the advice given by the
Council of Ministers./ jk"V?ifr eaf=ifj"kn
}kjk nh xbZ lykg ij vius foosd dk
¢;ksx ugha djrk gSA

2. All members of the Legislative
Assemblies and both the Houses of the
Parliament take part in electing the
President./ jk"V?ifr ds pquko esa
fo/kku IHkkvksa vkSj laln ds nksuksa
Inuksa ds IHkh InL; Hkkx ysrs gSaA

3. The President’s ordinance making
power is not a discretionary power./

jk"Viifr dh v/;kns'k cukus dh 'kfa
dksbZ foosdk/khu 'kfa ugha gSA

Which of the above statements is/are
correct?/ mijksa esa Is dkSu lk/ls dFku
Igh gS/gSa\

(a) 1 and 2 only/ dsoy 1 vkSj 2
(b) 1 and 3 only/ dsoy 1 vkSj 3

(c) 3 only/ dsoy 3
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33.

34.

(d) 2 and 3 only/ dsoy 2 vkSj 3

Consider the following statements
regarding the Legislative Powers of the
President./ jk"V?@ifr dh fo/kk;h 'kfa;ksa
ds laca/k esa fuEufyf[kr dFkuksa ij
fopkj djsa

1. He can send messages to the Houses of
Parliament with respect to a bill pending
in the Parliament./ og laln esa yafcr
fdlh fo/ks;d ds lacal/k esa laln ds
Inuksa dks lans'k Hkst ldrk gSA

2. He decides on questions as to
disqualifications of members of the
Parliament, in consultation with the
Prime Minister./ og ¢/kkuea=h ds
ijke'kZ Is laln InL;ksa dh v;ksX;rk Is
lacaf/kr ¢'uksa ij fu.kZ; ysrk gSA

3. In the case of Puducherry, the
President can legislate by making
regulations but only when the assembly is
suspended or dissolved./ igMgpsjh ds
ekeys esa jk"V?ifr fu;e cukdj dkuwu
cuk Idrs gSa ysfdu dsoy rc tc
fo/kkulHkk fuyafcr ;k Hkax gksA

Which of the above statements is/are
correct? / mijksa esa Is dkSu lk/Is
dFku Igh gS/gSa\

(a) 1 and 2 only/ dsoy 1 vkSj 2
(b) 1 and 3 only/dsoy 1 vkSj 3
(c) 2 and 3 only/ dsoy 2 vkSj 3
(d) 1,2 and 3/ 1] 2 vkSj 3

Consider the following statements: /
fuEufyf[kr dFkuksa ij fopkj djsa

1. The Legislative Council of a state in
India can be larger in size than half of the
Legislative Assembly of that particular
state./ Hkkjr esa fdlh jkT; dh fo/kku
ifi"kn vkdkj esa ml jkT; dh fo/kku IHkk
ds vk/ks Is Hkh cM+h gks Idrh gSA

2. The Governor of a state nominates the
Chairman of the Legislative Council of
that particular state./ fdlh jkT; dk

35.

jkT;iky ml fo'ks"k jkT; dh fo/kku ifj"kn
ds v/;{k dks ukfer djrk gSA

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/dsoy 1
(b) 2 only/dsoy 2
(c) Both 1 and 2/1 vkSj 2 nksuksa

(d) Neither 1 nor 2/ u rks 1 vkSj u gh 2

Consider the following statements
regarding the Governor’s legislative
powers./ jkT;iky dh fo/kk;h 'kfa;ksa ds
laca/k esa fuEufyf[kr dFkuksa ij fopkj
djsaA

1. If a bill passed by the state legislature
endangers the position of the state high
court, the Governor must reserve the bill
for consideration of the President./ ;fn
JKT; fo/lkkueaMy }kjk ikfjr dksbZ
folks;d jkT; mPp U;k;ky; dh fLFkfr
dks [krjs esa Mkyrk gS] rks jkT;iky
dks fo/ks;d dks jk"V?ifr ds fopkj ds fy,
vkjf{kr djuk gksxkA

2. If a bill sent by the Governor for the
reconsideration of the State legislature is
passed again without amendments, the
Governor is under no constitutional
obligation to give his assent to the bill./
;fn jkT;iky }kjk jkT; fo/lkkueaMy esa
iqufoZpkj ds fy, Hkstk x;k dksbZ
folks;d fcuk fdlh la'kks/ku ds nksckjk
ikfjr gks tkrk gS] rks jkT;iky ij fo/ks;d
ij viuh Igefr nsus dh dksbZ
laoS/kkfud ck/;rk ugha gSA

Which of the above statements is/are
correct?/ mijksa esa Is dkSu lk/ls dFku
Igh gS/gSa\

(a) 1 only/dsoy 1
(b) 2 only/ dsoy 2
(c) Both 1 and 2/ 1 vkSj 2 nksuksa

(d) Neither 1 nor 2/u rks 1 vkSj u gh 2
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36.

37.

Consider the following statements
regarding the terms of the Office of the
Governor./ jkT;iky ds dk;kZy; dh
'krksaZ ds lacalk esa fuEufyf[kr
dFkuksa ij fopkj djsa

1. The Governor can resign at any time
by addressing a resignation letter to the
Chief Minister of the State. / jkT;iky fdlh
Hkh le; jkT; ds eq[;ea=h dks R;kx i=
lacksf/kr djds bLrhQk ns Idrk gSA

2. The Constitution does not lay down the
grounds upon which a governor may be
removed by the President./ lafo/kku mu
vk/kkjksa dk mYys[k ugha djrk gS
ftuds vk/kkj ij jk"V?ifr }kjk jkT;iky dks
gVk;k tk Idrk gSA

Which of the above statements is/are
correct?/ mijksa esa Is dkSu lk/Is dFku
Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 2 only/dsoy 2
(c) Both 1 and 2/1 vkSj 2 nksuksa

(d) Neither 1 nor 2/ u rks 1 vkSj u gh 2

The Parliament of India acquires the
power to legislate on any item in the State
List in the national interest if a resolution
to that effect is passed by the/ Hkkjr dh
laln dks jk"V?h; fgr esa jkT; lwph esa
fdlh Hkh vkbVe ij dkuwu cukus dh
'kfa ¢kir gksrh gS ;fn ml vk'k; dk ,d
cLrko ikfjr fd;k tkrk gSA

(a) Lok Sabha by a simple majority of its
total membership/ yksdiHkk viuh dqy
InL;rk ds Ik/kkj.k cgqger Is

(b) Lok Sabha by a majority of not less
than two-thirds of its total membership/
yksdIHkk viuh dqy InL;rk ds de Is de
nks&frgkbZ cgqger Is

(c) Rajya Sabha by a simple majority of
its total membership/ jkT; IHkk viuh dqy
InL;rk ds Ik/kkj.k cgger Is

38.

39.

(d) Rajya Sabha by a majority of not less
than two-thirds of its members present
and voting / jKT;IHkk vius mifLFkr vkSj
ernku djus okys InL;ksa ds de Is de
nks&frgkbZ cgqer Is

Consider the following statements about
Public Accounts Committee:/ yksd ys[kk
Ifefr ds ckjs esa fuEufyf[kr dFkuksa ij
fopkj djsa%

1. It was first set up in 1921 in the wake
of the Montague-Chelmsford Reforms./
bldh LFkkiuk igyh ckj 1921 esa
eksaVsx&psEIQksMZ lqg/kkjksa ds
eisutj dh xbZ FKkhA

2. The term of office of members of the
Committee does not exceed one year at a
time. / Ifefr ds InL;ksa dk dk;Zdky ,d
le; esa ,d 0"kZ Is vf/kd ugha gksrk
gSA

3. The Chairman of the Committee is
appointed by the Speaker from amongst
the members and he is invariably from
the ruling party./ Ifefr ds v/;{k dh fu;qfa
v/;{k }kjk InL;ksa esa Is dh tkrh gS
vkSj og vfuok;Z :i Is IUkk:<+ ny Is
gksrk gSA

Which of the given above statements
is/are correct?/ mijksa fn, x, dFkuksa
esa Is dkSu lk/Is Igh gS/gSa\

(a) 1 and 2 only/ dsoy 1 vkSj 2

(b) 2 and 3 only/ dsoy 2 vkSj 3
(¢) 1 and 3 only/ dsoy 1 vkSj 3

(d) 1,2 and 3/1] 2 vkSj 3

Which of the following states' tribal areas
are administered under the sixth
schedule's provisions?/ fuEufyf[kr esa Is
fdl jkT; ds tutkrh; {ks=ksa dks NBh
vuqlwph ds ¢cko/kkuksa ds rgr ¢'kkfir
fd;k tkrk gS\

1. Assam/ vle

2. Meghalaya/ es7kKy;
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40.

41.

3. Tripura/ f=igjk
4. Manipur/ ef.kiqj

Select the correct answer using the code
below:/ uhps fn, x, dksM dk mi;ksx
djds Igh mUkj pqusa%

(a) 1, 2 and 3 only/ dsoy 1] 2 vkSj 3

(b) 2, 3 and 4 only/ dsoy 2] 3 vkSj 4
(¢) 1,2 and 4 only/ dsoy 1] 2 vkSj 4

(d) 1, 3 and 4 only/ dsoy 1] 3 vkSj 4

With reference to the provisions
contained in Part IV of the Constitution
of India, which of the following
statements is/are correct? / Hkkjr ds
lafo/kku ds Hkkx IV esa fufgr
cko/kkuksa ds lanHkZ esa] fuEufyf[kr
esa Is dkSu lk/ls dFku Igh gS/gSa\

1. They shall be enforceable by courts./
os vnkyrksa }kjk ¢corZuh; gksaxsA

42.

2. They shall not be enforceable by any
court./ os fdlh Hkh U;k;ky; }kjk
c¢orZuh; ugha gksaxsA

3. The principles laid down in this part
are to influence the making of laws by the
State./ bl Hkkx esa fu/kkZfjr fl)kar jkT;
}kjk dkuwu cukus dks ¢Hkkfor djus
ds fy, gSaA

Select the correct answer using the code
given below:/ uhps fn, X, dksM dk
mi;ksx djds Igh mUkj pqusa%

(a) 1 only/ dsoy 1
(b) 2 only/ dsoy 2
(¢) 1 and 3 only/ dsoy 1 vkSj 3

(d) 2 and 3 only/ dsoy 2 vkSj 3

With reference to ‘Changpa Community
of India, consider the following
statement:/ *Hkkjr ds pkaxik leqnk;*

ds lanHkZ esa] fuEufyf[kr dFku ij
fopkj djsa%

1. They live mainly in the State of
Uttarakhand./ ;s eq[;r% mUKkjk[kaM
jkT; esa jgrs gSaA

2. They rear the Pashmina goats that
yield a fine wool./ os i'ehuk cdfj;ksa
dks ikyrs gSa tks cf<+;k Au nsrh
gSaA

3. They are kept in the category of
Scheduled Tribes./ bUgsa vuqlwfpr
tutkfr dh Js.kh esa j[kk x;k gSA

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/ dsoy 1

(b) 2 and 3 only/ dsoy 2 vkSj 3
(c) 3 only/ dsoy 3

(d) 1,2 and 3/1] 2 vkSj 3

Which of the following statements is / are

correct regarding vegetative propagation

of plants?/ ikS/kksa ds okuLifrd ¢lkj ds
laca/k esa fuEufyf[kr esa Is dkSu Ik/ls
dFku Igh gS/gSa\

1. Vegetative propagation produces clonal
populations./ okuLifrd ¢lkj Is Dyksuy
vkcknh iSnk gksrh gSA

2. Vegetative propagation helps in
eliminating the virus./ okuLifrd ¢lkj
ok;jl dks [kRe djus esa enn djrk gSA

3. Vegetative propagation can be
practiced most of the year./ okuLifrd ¢lkj
dk vH;kl 0"kZ ds vf/kdka'k le; fd;k tk
Idrk gSA

Select the correct answer using the code
given below./ uhps fn, x, dksM dk
mi;ksx djds Igh mUkj pqusaA

(a) 1 only/dsoy 1
(b) 2 and 3 only/dsoy 2 vkSj 3
(¢) 1 and 3 only/dsoy 1 vkSj 3
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43.

44,

45.

(d) 1,2 and 3/1] 2 vkSj 3

The seasonal reversal of winds is the
typical characteristic of/iouksa dk
ekSleh myVko fdldh fof'k"V fo'ks"krk
gS\

(a) Equatorial climate/Hkwe/;js[kh;
tyok;q

(b)Mediterranean climate/Hkwe/;lkxjh;
tyok;q

(c) Monsoon climate/ekulwu tyok;q

(d) All of the above climates/mijksa IHkh
tyok;q

46.
Consider these pairs/ bu tksfM+;ksa ij
fopkj djsa
1. Cardamom Hills Coromandel Coast/
/ byk;ph igkfM+;k; dksjkseaMy rV
2. Kaimur Hills/ Konkan
Coast/
dSewj igkfM+;kj dksad.k rV
3. Mahadeo Hills/ Central India/ e/;
Hkkjr
egknso igkfM+;Kkij
4. Mikir Hills/ North-East
India/
fef‘dj igkfM+;k; 47.
mUKkj&iwohZ Hkkjr

Which of the above pairs are correctly
matched?/ mijksa esa Is dkSu Ik
tksM+k Igh Igesfyr gS\

(a) 1 and 2/ 1 vkSj 2
(b) 2 and 3/ 2 vkSj 3
(c) 3 and 4/ 3 vkSj 4
(d) 2 and 4/ 2 vkSj 4

Consider the following rivers:/
fuEufyf[kr ufn;ksa ij fopkj djsa%

1. Barak/ cjkd

2. Lohit/ yksfgr
3. Subansiri/ Iqcufljh

Which of the above flows / flow through
Arunachal Pradesh?/ mijksa esa Is
dkSu Ih /kkjk v#.kkpy ¢ns'k Is gksdj
cgrh gS\

(a) 1 only/ dsoy 1

(b) 2 and 3 only/ dsoy 2 vkSj 3
(¢) 1 and 3 only/ dsoy 1 vkSj 3
(d) 1,2 and 3/1] 2 vkSj 3

Which one of the following pairs of
islands is separated from each other by
the ‘Ten Degree

Channel’?/ fuEufyf[kr esa Is dkSu lk
}hi lewg ,d nwljs Is Anl fMxzh” }kjk
vyx fd;k x;k gS

pSuy”\

(a) Andaman and Nicobar/ vaMeku vkSj
fudksckj

(b) Nicobar and Sumatra/ fudksckj vkSj
Igek=k

(c) Maldives and Lakshadweep/ ekynho
vkSj y{k}hi

(d) Sumatra and Java/ lqgek=k vkSj tkok

Which of the following phenomena might
have influenced the evolution of
organisms?/ fuEufyf[kr esa Is fdl
?kVuk us thoksa ds fodkl dks
¢Hkkfor fd;k gksxk\

1. Continental drift/ egk}hih; cgko
2. Glacial cycles/ fgekuh p@

Select the correct answer using the code
given below./ uhps f‘n, X, dksM dk
mi;ksx djds Igh mUkj pqusaA

(a) 1 only/ dsoy 1
(b) 2 only/ dsoy 2

(c) Both 1 and 2/ 1 vkSj 2 nksuksa
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48.

49.

50.

(d) Neither 1 nor 2/ u rks 1 vkSj u gh 2

Turkey is located between/ VdhZ fdlds
chp fLFkr gS\

(a) Black Sea and Caspian Sea/ dkyk Ikxj
vkSj dSfLi;u Ikxj

(b) Black Sea and Mediterranean Sea/
dkyk lkxj vkSj Hkwe/; Ikxj

(¢) Gulf of Suez and Mediterranean Sea/
Lost dh [kkM+h vkSj Hkwe/; Ikxj

(d) Gulf of Aqaba and Dead Sea/ vdkck
dh [kkM+h vkSj e'r Ikxj

What is the correct sequence of
occurrence of the following cities in
South-East Asia as one

proceeds from south to north?/
nf{k.k&iwoZ ,f'k;k esa nf{k.k Is mUkj
dh vksj c<+us ij fuEufyf[kr 'kgjksa dh
?kVuk dk Igh @e D;k gS\

1. Bangkok/ cSad,d
2. Hanoi/ guksbZ

3. Jakarta/ tdkrkZ

4. Singapore/ flaxkiqj

Select the correct answer using the code
given below./ uhps fn, x, dksM dk
mi;ksx djds Igh mUkj pqusaA

(a) 4-2-1-3
(b) 3-2-4-1
(¢) 3-4-1-2
(d) 4-3-2-1

Consider the following pairs/ fuEufyf[kr
tksfM+;ksa ij fopkj djsa

Region often in news/
ns'k

Country/

¢ns’k vDIj [kcjksa esa
jork gS

1. Chechnya/ pspU;k
Federation/

Russian

51.

52.

:lh la?k
2. Darfur/ nkjQqj Mali/ ekyh
3. Swat Valley/ Iraq/ bjkd

Lokr ?kkVh

Which of the above pairs is/are correctly
matched?/ mijksa esa Is dkSu lk/Is
tksM+k Igh Igesfyr gS/gSa\

(a) 1 only/ dsoy 1

(b) 2 and 3 only/ dsoy 2 vkSj 3
(c) 1 and 3 only/ dsoy 1 vkSj 3
(d)1,2 and 3/1] 2 vkSj 3

Consider the following pairs :/
fuEufyflkr tksfM+;ksa ij fopkj djsa%

Programme Project Ministry

1. Drought-Prone Area Programme Ministry Of Agriculture

2. Desert Development Programme

Ministry Of Environment AndForests

3. National Watershed Development ProjectFor | Ministry Of Rural Development
Rainfed Areas

Which of the above pairs are correctly
matched/ mijksa esa Is dkSu Ik
tksM+k Igh Igesfyr gS\

(a) 1 and 2 only/ dsoy 1 vkSj 2
(b) 3 only/ dsoy 3

(¢) 1,2 and 3/ 1] 2 vkSj 3

(d) None/ dksbZ ugha

Which of the following adds/add carbon
dioxide to the carbon cycle on the planet
Earth?/ fuEufyf[kr esa Is dkSu i'Foh
xzg ij dkcZu p9D esa dkcZu
Mkbv,DIkbM tksM+rk/tksM+rk gS\

1. Volcanic action/ Tokykeq[kh f@;k
2. Respiration/ 'olu
3. Photosynthesis/ ¢dk'k la'ys"k.k

4. Decay of organic matter/ dkcZfud
inkFkZ dk {k;

Select the correct answer using the code
given below./ uhps f‘n, x, dksM dk
mi;ksx djds Igh mUkj pqusaA
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53.

54.

(a) 1 and 3 only/ dsoy 1 vkSj 3

(b) 2 only/ dsoy 2

(¢) 1, 2 and 4 only/ dsoy 1] 2 vkSj 4
(d) 1, 2, 3 and 4/ 1] 2] 3 vkSj 4

If you travel through the Himalayas, you
are likely to see which of the following
plants naturally grow there?/ ;fn vki
fgeky; Is ;k=k djrs gSa] rks vkidks ;g
ns[kus dh laHkkouk gS fd fuEufyf[kr
esa Is dkSu Ik ikS/kk ogka ¢ck—frd :i
Is mxrk gS\

1. Oak/ vksd
2. Rhododendron/ jksMksMsaM?ksu
3. Sandalwood/ panu

Select the correct answer using the code
given below/ uhps fn, x, dksM dk
mi;ksx djds Igh mUkj pqusa

(a) 1 and 2 only/ dsoy 1 vkSj 2
(b) 3 only/ dsoy 3

(¢) 1 and 3 only/ dsoy 1 vkSj 3
(d) 1,2 and 3/1] 2 vkSj 3

Which of the following are some
important pollutants released by the steel
industry in India?/ Hkkjr esa bLikr
m|ksx }kjk mRIftZr dgN egRoiw.kZ
¢nw"kd fuEufyf[kr esa Is dkSu Is gSa\

1. Oxides of sulphur/ IYQj ds v,DIkbM

2. Oxides of nitrogen/ ukbV?kstu ds
v,DIkbM

3. Carbon monoxide/ dkcZu
eksuksv,DIkbM

4. Carbon dioxide/ dkcZu Mkbv,DIkbM

Select the correct answer using the code
given below./ uhps fn, X, dksM dk
mi;ksx djds Igh mUkj pqusaA

(a) 1, 3 and 4 only/ dsoy 1] 3 vkSj 4
(b) 2 and 3 only/ dsoy 2 vkSj 3

55.

56.

(e) 1 and 4 only/ dsoy 1 vkSj 4
(d) 1,2, 3 and 4/ 1] 2] 3 vkSj 4

Recently, a series of uprisings of people
referred to as ‘Arab Spring’ originally
started from/ gky gh esa] yksxksa ds
foaeksg dh ,d J a[kyk ftls ewy :i Is
Avjc fLcax” dgk tkrk gS] 'kq: ggbZ

(a) Egypt/ felz

(b) Lebanon/ yscuku
(c) Syria/ Ihfj;k

(d) Tunisia/ Viwuhf'k;k

With reference to two non-conventional
energy sources called ‘coalbed methane’
and ‘shale gas’, consider the following
‘statements:/ *dksycsM ehFksu” vkSj
A'ksy xSI* uked nks xSj&ikjaifjd AtkZ
Izksrksa ds lanHkZ esa] fuEufyf[kr
AdFkuksa ij fopkj djsa%

1. Coalbed methane is the pure methane
gas extracted from coal seams, while
shale gas is a

mixture of propane and butane only that
can be extracted from fine-grained
sedimentary rocks./ dksycsM ehFksu
dks;yk ijrksa Is fudkyh xbZ 'kq)
ehFksu xSl gS] tcfd 'ksy xSl ,d gS
dsoy cksisu vkSj C;wVsu dk feJ.k ftis
ckjhd d.k okyh ryNVh pékuksa Is
fudkyk tk Idrk gSA

2. In India abundant coalbed methane
sources exist, but so far no shale gas
sources have been

found./ Hkkjr esa ¢pqj ek=k esa
dksycsM ehFksu Izksr ekStwn gSa]
ysfdu vHkh rd dksbZ 'ksy xSl Izksr
ugha gS feykA

Which of the statements given above
is/are correct?/ Aij fn, x, dFkuksa esa
Is dkSu lk/Is Igh gS/gSa\

(a) 1 only/ dsoy 1
(b) 2 only/ dsoy 2
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57.

58.

(c) Both 1 and 2/ 1 vkSj 2 nksuksa
(d) Neither 1 nor 2/ u rks 1 vkSj u gh 2

Consider the following pairs :/
fuEufyf[kr tksfM+;ksa ij fopkj djsa%

Well-known for the
production of/ ds
mRiknu ds fy, c¢fl)

Region/ {ks=

1. Kinnaur/ fdUukSj Areca nut/
Igikjh
2. Mewat/ esokr Mango/ vke

3. Coromandel / dksjkseaMy Soya bean/
lks;kchu

Which of the above pairs is/are correctly
matched?/ mijksa esa Is dkSu lk/ls
tksM+k Igh Igesfyr gS/gSa\

(a) 1 and 2 only/ dsoy 1 vkSj 2
(b) 3 only/ dsoy 3

(¢) 1,2 and 3/1] 2 vkSj 3

(d) None/ dksbZ ugha

Consider the following pairs :/
fuEufyf[kr tksfM+;ksa ij fopkj djsa%

National highways/ Cities Connected/ Is

jk"Veh; jktekxZ tqM+s 'kgj

1.NH4/,u,p 4 Chennai and
Hyderabad/
psUubZ vkSj
gSnjkckn

2. NH 6/,u,p 6 Mumbai and

Kolkata/ eqacbhZ
vkSj dksydkrk

3. NH15/,u,p 15 Ahmedabad and
Jodhpur/vgenkckn

vkSj tks/kiqj

Which of the above pairs is/are correctly
matched?/ mijksa esa Is dkSu lk/Is
tksM+k Igh Igesfyr gS/gSa\

(a) 1 and 2 only/dsoy 1 vkSj 2

59.

60.

61.

(b) 3 only/dsoy 3
(¢) 1,2 and 3/1] 2 vkSj 3
(d) None/dksbZ ugha

In the South Atlantic and South-Eastern
Pacific regions in tropical latitudes,
cyclones do not

originate, What is _the reason ?/

37T H G1ayuT Acallch
3R gfeTor-udt gRrier &1 # wshard wgr

37T 39y FROTFATE 2

(a) Sea surface temperatures are low/
THG, T TAg T ATIATA FH &

(b) Inter-tropical Convergence Zone

seldom occurs/ 3A{-3SUTehieaei
HTPEROT &7 e & el grar &

(¢) Coriolis force is too weak/ IR
el 9§t AN &

(d) Absence of land in those regions/ 3ol
SEIEE G EIC)

Which one of the following pairs of States
of India indicates the easternmeost z}nd
western most State ?/ 3Rd & Tl &

Ffafed ot & @ sle-ar v qad
qdt 3 w8 afesdt T =t geifar g2

(a) Assam and Rajasthan/ 319H 3R
JTSTETT

(b) Arunachal Pradesh and Rajasthan/
3EUTIS 9&2T 3 TTEUTeT

(c) Assam and Gujarat/ 3THH 3R oI

(d) Arunachal Pradesh and Gujarat/
RISl e 3R oI

What explains the eastward flow of the

equatorial countercurrent ?/ T%I'NT:IHT@'J
TR & Qi JaTg chl T saredn 2

(a) The Earth's rotation on its axis/ qza“r
T 3791 €T IR =T
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62.

63.

(b) Convergence of the two equatorial

currents/ Gl B:I‘\?:PZII'Q'@'J RT3 T
3TTRTROT

(c) Difference in salinity of water/ qreir
T STFOTAT H 3TN

(d) Occurrence of the belt of calm near

the equator/ ALY @M & 9TH 0Td So¢
T g

Consider the following pairs:/

feafaf@aa Sfsat o faar &<
64.
Place of Pilgrimage/ T ETT
Location/
T
1. Srisailam/ #2NASTH  Nallamala Hills/ ‘
STeoITHTAT JgIisar
2. Omkareshwar/ 37/ehIR2aY Satmala
Hills/ ddHATeT
RRIER)
3. Pushkar/ 9l Mahadeo Hills/
f Agrea veifsat 6>
Which of the above pairs is/are correctly
matched?/ 3RFd H & ST /A ST
e AT 8/e?

(a) 1 only/ shdel 1
(b) 2 and 3 only/ Fad 2 3T 3
(¢) 1 and 3 only/ Fadl 13X 3

(d)1,2 and 3/1,2 31X 3

Consider the following rivers :/

AT Afear W fear & :
1. Vamsadhara/ JereIRT

2. Indravati/ Sgradr

3. Pranahita/ 9ToTfgdr

4. Pennar/ Yool

Which of the above are tributaries of
Godavari ?/ 390ed H ¥ isT METar $r
e fear g2

(a) 1,2 and 3/1,2 31T 3

(b) 2,3 and 4/2, 3 3T 4

(¢)1,2 and 4/1,2 3iR 4

(d) 2 and 3 only/ %hae 2 3R 3

In India, the steel production industry

requires the import of/ 3R H STUTC
m 3T T JTAT T ITTLIhdT

(a) saltpeter/ MRT

(b) rock phosphate/ Ik BIEhT
(¢) coking coal/ IfRaT T
(d) All of the above/ 3T T

Consider the following statements:/
fAraAfaf@d sy« W faar w3

1. The winds which blow between 30 N
and 60 S latitudes throughout the year
are known as westerlies/ ¥ HT 30 3a7

31X 60 gfaToT 3ratiell & e Tort arelr
a3l T TG §ATV el STl §

2. The moist air masses that cause winter
rains in the NorthWestern region of India
are part of

westerlies./ 3TRd & 3AI-9THT T &
frcTepToleT IS T HRUT Solet ATell oI5
AIgIRY IP3HT ga3il & REaT g

Which of the statements given above
is/are correct?/ 3UX ST ITT YA H A

T AT/ TE &2
(a) 1 only/ shdel 1
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66.

67.

(b) 2 only/ shadl 2
(¢) Both 1 and 2/1 3i{X 2 @)t

(d) Neither 1 nor 2/ Far 13X A& 2

We are given three copper wires of
different lengths and different areas of
cross section. Which one of the following
would have highest resistivity?/ g

3 eldT-3Tcld] (’Idl$ 3‘ﬁT3‘I(‘NI-3'|ONI 9hN'|
QAT & dieT did & IR U aw &
AfaT@d & O fhgehT gfaRIershdr ad

377 gref?

(a) Copper wire of 50 cm length and 1
mm diameter/ 50 Q& Fa1S 3R 1 A=

g1 T did &l dR

(b) Copper wire of 25 cm length and 0.5

mm diameter /25 THT J&T15 31X 0.5 AT
ST &I dIel &l dR

(c) Copper wire of 10 cm length and 2.0

mm diameter/10 T a1 3R 2.0 fAFY
ST &7 dT1e &l dR

(d) All the wires would have same

g;#ﬁvity/ T IRY T GTRIETRdT THTT

Which of the following statements about
“fission’ is correct?/ 'fA@sA"' & IR A

frafaf@a & & Fia a1 FueT agr g2

1. It is related with the creation of new
individuals by means of cell division in

unicellular organism. / Jg Usheh! TARIT
SN # HIRAFT AT o ATETH F AT
gt o AT & Tafad g1

2. It is related with the transformation of
heavier nuclei into smaller nuclei./ Jg

AR ATTRAT & DI ATTHGT 7 IRGdT &
HafRIT gl

3. It is related with the creation of a
heavier nuclei by means of combining

two higher nuclei./ Ig &I 3Td AT{&AHI &
TSI o ATETH F AR ATTHG o [AHTOT
o gafaa g

68.

69.

70.

Select the correct answer using the code

given below:/ s f&U 31T &8 T 3TN
leh FeT 3R o

(a) 1 only/ Fael 1
(b) 2 only / Shdef 2

(¢) 1 and 2 only/ Fad 13X 2
(d) 1 and 3 only/ %hael 1 3R 3

Which one of the following is an electric
conductor ?/ fHrATAf@aT H A FlT @1
Teh faegel dreleh 2

(a) A plastic sheet / Teh TalTiec i

(b) Distilled water/ 3-113;?[ Slel

(c) Human body / AT R

(d) A wooden thin sheet/ Teh SThsT Sl

A non- spherical shining spoon can
generally be considered as a/ Ueh

I-IMATRR THPSR TFAT i 3TH diX
U AT ST b &

(a) Spherical mirror/ IMEIThR GUOT
(b) Parabolic mirror/ RIS UoT

(c) Plane mirror/ GHJT gqur

(d) Lens/ oi®

Who amongst the following is a pioneer
in discovering the heating effect of

electric current?/ [FITaT@d & @ i
faegd 4rT & a1 wsTTa < @il 7
379roft 2

(a) Isaac Newton/ 3-1133\35 g cel

(b) Galileo Galilei/ FreliTeraT dteirelr

(c) James P. Joule/ Si#H W, S[eT
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71.

72.

73.

74.

(d) J.J. Thomson / V.51, ATHAGT

Which one of the following laws of
electromagnetism does not give the
direction of magnetic field?/ ?/ IECUG
Teehcd T ETATRd & & P & 3

T 8 1 R €T Fara 82

(a) Right- hand thumb rule/ €I f&el BT
39S FT

N

(b) Fleming’s left-hand rule / ol T 9T T
U &1 &1 [TH

(¢) Fleming’s right-hand rule/ FolfHaT &r
aIU g1 &l

(d) Faraday’s law of electromagnetic
induction/ TS T faeTc JEaehrg 90T
CORCRE

How many internal reflections of light
take place in the formation of primary

rainbow?/ WA Seerely & IGEI )
YhIRT & fohclal 3TaRes Trads gld &7

(a) 0/thjks

(b) 1/,d

(c) 2/ nks

(d) More than 2/ 2 ¥ 319

The direction of acceleration in uniform
circular motion is along the/ ThdHATeT
I ATl # oot h R gleil &

(a) Direction of motion / 3TTc T &=

(b) Tangent to the circle at the point of

observation/ 37dcllehe] oh %@ EES Elc?f &r
ToRE@T

(c) Direction of velocity/ g1 i fear

d) Direction perpendicular to velocity/
& oladd ferrm

The weight of an object is due to/ fhaT
I T HR Tohdreh HROT gl &2

75.

76.

77.

(a) the net force acting on it./ 38 WX T
T aTeT Yy el |

(b) the total of all forces acting on it

irrespective of their directions./ 3eTehT
fe=m3it & Warg fhu f9ar 38 W
YA aTell T Tehdl AT ol N7 |

(c) the force that it exerts on the ground/

e Sl Sif TE ST TR ST & |

(d) its inert property./ $HI [ATSHY
Ui |

The size of particles being studied in
‘nano-technology’ is about /

"AA-GieAN TR 7 eI T ST I
HUTT ST TR STTHIT &

(a) 1A — 10 nm
(b)1 — 100nm
()1 — 50

(d) Imm — 10 mm

An object weighs 9N on the surface of the
Earth . What would be its weight, when
measured on the surface of a planet
where the acceleration due to gravity is 9
times that on the surface of the Earth?/
gL & Felg TR Teh a&] T HRX IN B
ST fmlt 7 ; & Tdg I ATIT ST ar
SHT dole] fohddelT BI4T, EETWQE

$HROT caIuT t[%?:?r@rads q{ 9 cgm%?

(a) The weight would remain the same /
EEEEEGT]

(b) The weight would be equal to 1N /
goTeT 1T & SRTeX 19T

(c) The weight would become 9 times/
dolel 9 dAa'll ETJIIK"’II

(d) The weight will be reduced to % N/
goTeT 1/9 Uel A & gl ST

The twinkling of a star is due to : / X T
feAfeATT fhash FROTEIATE !
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78.

79.

(a) atmospheric reflection of starlight/

oIRY & eIl T AGHASAT Fic el

(b) atmospheric refraction of starlight/

IR & TRl T AGHST Tdcie]

(¢) continuous change in the position of

the star / dR &1 FTUfa & TRaT aRada

(d) oscillation of starlight/ T & JehTar
T Glelal

A convex lens has a focal length of 15 cm.
At what distance should an object be
placed in front of the lens to get a real

image of the same size of the object? /

wméﬁaﬁrqﬁwe@wm%laﬁ
& AT 3ThR HI aEdde S1d 9Ted
A & T Ry a&g &l o & THa
foreTeT g1 IR T ST

(a) 15 cm/ 15 §HY

(b) 10 cm/10 THY
(¢) 30 cm/ 30 THT
(d) 40 cm/40 THY

Which one of the following statements
about biogas is not correct?/ IR &

TR # Fafofea & @ sia ar sa= &
T8l 872

(a) it is mainly composed of methane gas/

(b) it is a non renewable source of

gnergymﬁwwmﬁwm

(¢) it is formed by the decomposition of
cow dung in the absence of oxygen/Jg
JHTerdTSTeT &l 3T H M & el &

39geT A FAd

(d) it burns without smoke and leaves no

residue/ Ig =T €U & ol & 3R IS
AT T BSAT &

80.

81.

82.

If the magnification produced by a lens
is +2 then the image is :/ If¢ ol IRy
3o AT 2 § AV 19 &

(a) Erect, virtual and smaller than the

object/ T, 3THTHT 3K ard q Bler

(b) inverted, real and smaller than the
object / 3T, AREATAe 3R I A BICT

(c) erect, virtual end larger than the

object / €T, mmﬁvargrﬁaa

(d) inverted, real and larger than the
object/ 3efeT, ArEATdeh 3N T & 3T

Which of the following statements is /are

correct? / TAFATATET H T i TT HUA
Terg?

1. To commemorate 50 years of Project
Tiger, the Prime Minister launched the
International Big Cat Alliance (IBCA)./
SIolere TSIR & 50 9 W Blel & 3918

H, Wﬂ?ﬁﬁsaﬁramﬁwéa—d
37T (IBCA) a7 3R fehaT |

2. It is for the conservation of seven big
cats namely Tiger, Lion,Leopard, Snow
Leopard, Cheetah, Jaguar and Puma
harbouring ourplanet./ Ig §AR Ig I
forara et arelr ara a2 fafeerat arafq
STE, IR, g3, f&a g3, =i, Sep3m
31 AT & TETOT & TerT &

3. Nepal has become a founding member

of the Internatlonal Big CatsAlliance. /
SUTel $C~{°'|‘\’Ic'|01 %?TGhCHk’oH%N-I Al
AT HeT §a1 I & |

(a) 1 and 3/1 3iR 3
(b) 1 and 2/1 31T 2
(¢) 2 and 3/2 31X 3
(d)1,2 and 3/1,2 3R 3

Which of the following statements is/are

correct? / TAFATI@T H & &ia i/
YT T gle?
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&3.

&4.

1. India has been elected as a member of
the UN Statistical Commission,the
Commission on Narcotic Drugs and the
ProgrammeCoordinating Board of the
Joint UN Programme on
HIV/AIDS(UNAIDS) by the Economic
and Social Council ECOSOC of the
United Nations./ 3Rd &I Q:F’ﬁ‘?f S T
37Te 3R AT aRe SEETasE

aamma——crwmftmﬁrm
ARIEH Z9 U 3T 3R

TIITS/TSH (JUAATSH) W TIFA
T TS FRIFH & FRIFH THGTS
NS & TeTd & &9 & AT I E |

2. The Headquarters of United Nations
Economic and Social Council (ECOSOC)

is in Geneva, Switzerland. / W IS¢

3nfe 3R @Efas aRwe (ECOSOC)
ol A& fSa1aT, [Facsrels # &

(a) 1 only/ &hddl 1

(b) 2 only/ shddl 2
(¢) both 1 and 2/1 31T 2 1At

% none of the above/ 3TIedd H & Ehélg'

Which of the following is symbolized by
the Nandi Bullpresent at the top of

Sengol?/ TeTaliel & MY WX His[g HT el
ArTTafea # @ foraer udie g2
(a) Peace and prosperity/ 2 3R

[ANS

(b) Justice and strength/ =1 3iX afed

(¢) Liberty and affection/ Tad7dT 3T

e
(d) Mindfulness/ ATSSHeIAH

Match the following GI Tags with their

respective states/UT’s / G ICITCR
SIS &3T I 3oTch Tt

TS he AT TSt & e gaferd Y

85.

86.

1. Gond painting/ 3115 IT&elr a.

Jammu and
Kashmir /
o 3k
FeHR

2. Cumbum grapes/ sh&dH 3-1?¢I:\"b

Chattisgarh/
ERIE

3. Basohli Painting/ SOIgall U .
Madhya

Pradesh/
HET Ueer

4. Nagri Dubraj/ =T8I CENE d.
Tamil Nadu/

3
(a) 1c-2a-3b-4d
(b) 1¢-2d-3a-4b
(c) 1c-2a-3d-4b
(d) 1c-2b-3a-4d

“Indomitable: A Working Woman’s
Notes on Life, Work and Leadership” is
the autobiography of which of the

following personalities?/ "SsTaIfAcadl: T
afeheT gHE HAlcH 31TeT TS, dh TS
;IlinQIq ' islﬁliiqiﬁa ﬁ@- ia’_)ﬂ OQiaa(-a
T TCHRAT 82

(a) Arundhati Bhattacharya / sreufa

~

(b) Anita Desai/ 37foIdT ¢ATS
(¢) Naureen Hassan/ s3Il g1

(d) Gowsalya Shankar/ T AT

Justice Rohini commission is related to
which of the following?/ Si¥ca Ufgol
3T Rafaf@a & 8 rad gefaa &2

(a) International Arbitration / 343?1'@71
HEITUAT
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87.

88.

(b) Cryptocurrency Arbitration/
HEJEIAT

(¢) Prison Reforms/ Sief gur

(d) Sub-Categorisation of OBC/ 37&THT
T 3Y-gafiepIoT

Which one of the following is the best
description of ¢ GJ 1002 b and ¢’, that

was in the news recently?/ HFTa@d &
& it A7 st 1002 &t 3R & 1 Faa
37THT qUTS g, oI gTel &1 H Ta’i H 272

(a) Trojan Asteroids/ ¢ITe] &ade
(b) Exoplanets/ Eﬁ%—c’j%'

(c) Genetically Modified Rice Varieties/
TR & & AN drael T fhed

(d) Torpedo Launch and Recovery
Vessels/ TRUIS! dlled R Revadl Ided

Which of the following statements is/are

correct?/ fArafaf@a & @ g a/d
hUA Tl 8le?

1. Damodar Mauzo has been awarded the
57th Jnanpith Award, India’s highest

literary honor./ GIAIGI FISI &I IR &

gafea afefcas g&a1e 579 A=ds
QERR & GFATA T T & |

2. The 2023 Pulitzer Prize for Fiction was
awarded to the following twonovels:
Demon Copperhead by Barbara

Kingsolver,Trust by Hernan Diaz./

TOhareleT o ToIT 2023 h1 ‘-Hoicoﬂ TEHR
AfafRd & 3u=arat 1 veT [har

EIR2 I MESIEERY Idnd{-II("CN adikl 3HA

UGS, Follel [SATS GaRT TEC |

3. Georgi Gospodinov’s captivating novel,
“Time Shelter,” translated byAngela
Rodel, has secured the prestigious 2023
International Booker Prize./ TSTell JScl
CaRT fefdTied Sttt ANEISaIg &

HARH 391, "8 Pocl” o gfafSad

89.

90.

91.

éozsmwwmﬁﬁm
|

(a) 1 and 3 only/ hder 131K 3
(b) 2 and 3 only/ Fad 2 3R 3
(¢) All the above/ 3R T
g% none of the above/ 3TIFd H ¥ HIS

The SATHEE Platform is an initiative of
which of the following ministries?/
ColchiA fAFafafad 7 & ford FFTerg
Th Ugol &2

(a) Ministry of Education/ fr&m HATI T

(b) Ministry of Women and Child

Development/ AT Ug a1 9t
HATAT

(¢) Ministry of Skill Development and

Entrepreneurship/ pierer Taerd 3R
ELUIDGIEEICR

(d) Ministry of Micro, Small and Medium

Enterprises/ F&H, o 3N #ALIH 3¢TH
HATT

According to the 'Global Slavery Index
2023’ report by the Walk Free
Foundation, the number of people living
in conditions ofmodern slavery has
increased by what percentage in the past

fiveyears?/ dieh 1T B33 T 'Tollael

z-—o}afr : 2023' ROIE & 38R, oo
ﬁaﬂuﬁmmﬁﬁaﬁrﬁ

Gﬁmﬁaﬁﬁaﬁrmﬁﬁmﬁﬁem

aﬁragjﬁgé%?

(2) 10%

(b) 15%

() 20%

(d) 25%

Cabinet has approved LIGO-India,
gravitational-wave detector to be built in
Maharashtra, the I in LIGO stands
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92.

for ./ Hieie o ABRISE H

JATT SATeT Tl dgbcmchéwl-didl IEC XS
LIGO-ST331 ! AT & &1 &, LIGO H 1
FT AT gl

(a) Interference/ Ed&T

(b) Interferometer/é& TR
(¢) International/ 3TRTSERI/

(d) Institutional/ FEATTT

The Sun halo phenomenon, which was
recently seen in the news, occurs due to:/

I THTHS S TSI, i 8Tl &1 H HATIRI
2 715, fFgs FRuT gfed gl &

(a) Total Internal Reflection/ E[Usf 3TaRe
SIGICC]

(b) Refraction of sunlight / E‘:ﬁ' h Jhrel
Cal

(¢) Solar flares/ TR SATATT

(d) None of these/ 3oTH ¥ IS Tar

93.  Which one of the following is the
best description of ‘AGNI DAMAN- 23°,

that was in the news recently?/
Aafaf@a & O =i a1 '3 gaa- 23
T GIH 37T JUI g, ST &Il af 7 @l
ar?

(a) It is a rescue operation carried out by
the Indian Army./ ZI'&F ARAT AT GaR
TATIT IAT Ueh SATd AT g

(b) It is a firefighting exercise./ Jdg Uch
3fTeTereeT 36T B

(c) It is a bilateral exercise between the

armies of India and the US./ Jg ARJ
3R 3ARPT Fr F131 F oo vh
AERGIRKESIE S

tE_{(%None of the above./ 3TNFI H Eﬁlé
I

94.

Which of the following statements is/are

incorrect?/ FAfaf@a & @ il a1/a
HYUA ITeId ele?

1. The University Grants Commission
(UGC) has launched a new website,
theUTSAH (Undertaking Transformative
Strategies and Actions in Higher
Education)Portal, and the Professor of
Practice (PoP) Portal to promote quality

education inIndia./ faRafacaTery 3eTeTel

AT (Fire) = 3R # FoTadror
ﬁwﬁméﬁ%ﬁvwaéaw

gérTauTT (3T 6T 7 aRadeHR
Toreifaat 3tk sdarfean) @ 3k
GIhER AT AfFed (A3 dicd diea
Rar gl

2. Sanchar Saathi Portal was launched
which aims to empower mobile phone
users byproviding essential services, such
as tracking and blocking lost mobile

phones./ R areft Qe o fhar arw
ST 3682 @IV gU AISH Bl &l ¢
CRE 34‘\Tsouch WMMQWW
UGTel ch FAISTISS Bl 3YIRThAr3i &l
AT TATT & |

3. The Union Health Ministry announced
the "'75/25" initiative to provide
standardcare to 75 million people with
hypertension and diabetes by 2025
through PrimaryHealth Centers (PHCs).

/ AT TATELT HITAT of ITATHH

EATELY shal (FTed) & ATETH ¥ 2025
e o Therard 3R AYAE @ N 75
TATIIST N3N T AT SEHT UeTeT hlel

& ToIT "75/25" 9gol T GIYOT & |

Which of the following statements is/are

incorrect?/ F=faf@a & @ g a/a
HUA ITeTd 6la?

(a) 1 only/ Fad 1
(b) 2 only/ shddl 2

(¢) 3 only/ hddl 3
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95.

96.

g% none of the above/ 3WiFd § & Eﬁl’é’

The Izu—Ogasawara Trench which was in
news recently, is an oceanic trench

located in/ $o]-319HTERT 31T ST §ToT &1 H
GeRT # AT, Ueh FHLT 1T ¢ Sl AT &

(a) Indian ocean/ T8¢ ABNR

(b) Atlantic ocean/ 3TCellTceh HEATIR

(c) Eastern Pacific Ocean / 1flc\T:ﬁ EHIG
HGTHTIX

(d) Western Pacific Ocean/ Ii2T&T g2nd
HETHTIX

Match the following Exerises with their
respective participating countries/

TSI T 3oTah GaTOT AT
oo aTor S2Y & I fAeeT Y

1. Samudra Shakti/ THg AFd  a.
India and
Saudi Arabia

/ R 3R
AT 3RS

2. ‘AL-MOHED AL-HINDI/ b. India
and the

UK/ #Rd
3R faes

3. Ajeya Warrior/ 391 aTiRIX c.

India and
Indonesia/

8.|| {d
ECSBIREI

d. India and
Maldives/

9T 3T
AT

4. Ekuverin/ ugﬁﬁ;r

(a) 1c-2a-3b-4d
(b) 1c-2d-3a-4b

97.

98.

(c) 1c-2a-3d-4b
(d) 1c-2b-3a-4d

Which of the following statements is/are

incorrect ?/ A= faf@a & @ Sia @1/@
YA ITeId &/e?

1. India initiated Operation Kaveri to
evacuate its citizens from

theunrest-stricken Sudan./ 3TRd o7
RN & &I GoTol & 3ol ARTRERT T
foehToreT o foIT HTORRIeT h1aly & fohaT |

2. India has taken an initiative to aid
those affected by CycloneMocha in
Myanmar by launching “Operation
Karuna. Yemensuggested the name

'Mocha',/ $TR & "3TOREI HTOM" Y&
$lch FITHAR H TehdTd AT F FH1I AT
AN T GERIAT & T v g Hr §1
IHA o AT ATH G|

3. A cyclonic storm, named Biparjoy, was

suggested by Myanmar | FIAR IR
ATHh TshdTdl Al Cal H$-IId

e Ir=m 2|

(a) 1 only/ &hdel 1
(b) 2 only/ FHad 2
(¢) 3 only/ hadl 3
;% none of the above/ 3TIeFd H H HIS

Siniyah Island, recently in news, is part
of -/ AT eI, STET A @I A
g, forger feear &

(a) Saudi Arabia/ 3¢ 3R

(b) United Arab Emirates/ g 3Rd
HARTT

(c) Turkey/ b
(d) Iran/ ST
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99.

100.

In the Union Budget 2023-24, a new
MISHTI scheme wasannounced. The

primary objective of the scheme is/ harg

Jole 2023-24 H U 715 TASE IAratetr Hr
ETYOTT hY 375 | ATSTaAT T TTATAD 368 &

(a) Promote discovery and popularity of

Indian sweets forgetting GI tag./ Gﬁ}ﬂé
&I T TR AR fASISAT Fr @ret
AR I SGTaT &eT|

(b) Management of industries and
development of HumanResources in

them./ 3ET3TT T IaeTaT AR 3 AIT
gt &1 [ |

(c) Conservation of tigers through

increased affore§tati0p./ a?; g‘(f JAThIOT
o HATEIH § 16T T TIETUT|

(d) Mangrove plantation./ Hara
g&TRIYOT|

(&

Consider the following statements about
Open Network for DigitalCommerce

(ONDC)/ f3foecasrad & fow 3ua
sicdsh (ANTAST) & IR & eAfaf@a
FUAT W faR

1. It enables buyers and sellers to
transact with each other irrespective
ofthe e-commerce platform on which

either of them are registered./ IJg ECRAAR]

3R FasheT3it T Teh-gaR & 1Y olefced
Hel H TEIH TATT &, dTe d fohall 8T

§-FIFE CITHIH T el &

2. It is an initiative of the Department for

Promotion of Industry andInternal Trade 103.

(DPIIT) under the Ministry of Commerce

and Industry./ Jg arforsy 3R 3T
HATST & dgd 33T 3R 3MaRe R

TaeieT faameT (DPIIT) Y T Tgel &

Choose the correct statements:/ ?l?f CRiG]
ol

o]

(a) 1 only/ el 1
(b) 2 only/ hdel 2

101.

102.

(¢) Both 1 and 2/1 3iR 2 gi=r
(d) Neither 1 nor 2/ a1 3R T8 2

Which one of the following statements
about Chandragupta II is not correct ?/
pUaxqlr f}rh; ds ckjs esa fuEufyf[kr
esa Is dkSu Ik dFku Igh ugha gS\

(a) Kalidas and Amarsingh were famous
scholars in his court/ mlds njckj esa
dkfynkl vkSj vejflag ¢fl) fo}ku Fks

(b) He expanded his empire both through
matrimonial alliances and conquests/
mlus oSokfgd xBca/kuksa vkSj fot;
nksuksa ds ek/;e Is vius lkezkT; dk
foLrkj fd;k

(c) He married a Naga princess, named
Kubera Naga/ mUgksaus dqcsj ukxk
uked ukxk jktdgekjh Is fookg fd;k

(d) He married his daughter Prabhawati
to an Ahom prince/ mUgksaus viuh
csVh ¢Hkkorh dk fookg ,d vgkse
jktdqgekj Is fd;k

Who of the following is a contemporary
of Gautama Buddha?/ fuEufyf[kr esa Is
dkSu xkSre cq) dk ledkyhu gS\

(a) Ashvaghosa/v'o?kks"k
(b) Nagarjuna/ ukxktqZu
(c) Parsvanath/ ik'’kZ~oukFk

(d) Vardhmana Mahavira/ o/kZeku
egkohj

Which one of the following is the correct
chronological order of the given rulers of
ancient India?/ fuEufyf[kr esa Is dkSu
Ik ckphu Hkkjr ds fn, x, 'kkldksa dk
Igh dkykuq@fed Qe gS\

(a) Ashoka—Kanishka—Milinda/ v'kksd
& dfu"d & fefyan

(b) Milinda—Ashoka—Kanishka/
fefyaMk&v'kksd&dfu"d
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104.

105.

106.

(c) Ashoka—Milinda—Kanishka/ v'kksd
& fefyan & dfu"d

(d) Milinda—Kanishka—Ashoka/
fefyaMk&dfu"d&v'kksd

Which one of the following chronological
orders of the given dynasties of India is
correct ?/ Hkkjr ds fn, x, jktoa'kksa dk
fuEufyf[kr dkykuqQfed Qe esa Is
dkSu Ik Igh gS\

(a) Maurya-Nanda-Kanva-Sunga/
ekS;Z&uan&d.o&'kqax

(b) Nanda-Maurya-Sunga-Kanva/
uan&ekS;Z&'kgax&d.o

(¢) Nanda-Maurya-Kanva-Sunga/
uan&ekS;Z&d.o&'kgax

(d) Maurya-Nanda-Sunga-Kanva/
ekS;Z&uan&'kqax&d.o

Kalhana’s well-known work
'Rajatarangini' is an important source
material for the study of which one of the
following? / dYg.k dh lqcfl) —fr
Ajktrjafx.kh? fuEufyflkr esa Is fdlds
v/;;u ds fy, ,d egRoiw.kZ Izksr lkexzh
gS\

(a) Ancient Kamarupa/ ¢gkphu dke:i

(b) Post-Mauryan Magadha /
ekS;ksZUkj ex/k

(c) Medieval Rajasthan/ e/;dkyhu
jktLFkku

(d) Early medieval Kashmir/ ¢ckjafHkd
el;;qxhu d'ehj

Which of the following rulers checked
Harshavardhana's expedition in South
India?/ fuEufyf[kr esa Is fdl 'kkld us
nf{k.k Hkkjr esa g"kZonZ~/ku ds
vfHk;ku dks jksdk\

(a) Pulakesin I/ iqydsf'ku I

(b) Pulakesin II/ iqydsf'ku I1

(c¢) Vikramaditya I/ fodekfnR; ¢Fke
(d) Vikramaditya 11/ fo@ekfnR; f}rh;

107.

108.

'Mushika Vamsha' written by Atula in
the eleventh century gives an account of
the dynasty which ruled a part of a
modern Indian state. Which state is this?/
X;kjgoha 'krkCnh esa vrqy }kjk fyf[kr
Aeqf'kdk oa'k” ml jktoa'k dk fooj.k
nsrk gS ftlus vk/kqfud Hkkjrh; jkT; ds
,d fgLls ij 'kklu fd;k FKkA ;g dkSu lk
JKT; gS\

(a) Andhra Pradesh / vkalkz ¢ns’k
(b) Kerala/ dsjy

(c) Maharashtra/ egkjk"V?

(d) Orissa/ mM+hlk

Which of the following statements with
regards to the Civil Disobedience
movement is/are correct ? / Ifou; voKk
vkanksyu ds lacal/k esa fuEufyf[kr
esa Is dkSu lk/Is dFku Igh gS/gSa\

1.The movement received massive
response from business groups and
peasantry/ bl vkanksyu dks O;kikfjd
lewgksa vkSj fdlkuksa Is cM+s
iSekus ij ¢frfd;k feyh

2. The movement coincided with large

scale labour upsurge in Maharashtra/ ;g
vkanksyu egkjk"V? esa cM+s iSekus
ij Jfed foaeksg ds IkFk esy [kkrk Fkk

3. The movement was marked by the
mass participation of lawyers and
students/ vkanksyu dks odhyksa vkS;j
Nk=ksa dh Ikewfgd Hkkxhnkjh Is
fpfar fd;k x;k Fkk

Select the correct answer using the code
given below :/ uhps fn, x, dksM dk
mi;ksx djds Igh mUkj pqusa%

(a) 1 only/ dsoy 1
(b) 1 and 2 only/dsoy 1 vkSj 2
(c) 2 and 3 only/dsoy 2 vkSj 3

(d) 1,2 and 3/ 1] 2 vkSj 3
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109.

110.

Which one of the following was NOT a
feature of the Subsidiary Alliance of Lord
Wellesley?/ fuEufyf[kr esa Is dkSu Ih
y,MZ osysLyh dh Igk;d laf/k dh
fo'ks"krk ugha Fkh\

(a) The British were responsible for
protecting the ally from any external
threats/ Ig;ksxh dks fdlh Hkh ckgjh
[krjs Is cpkus dh ftEesnkjh vaxzstksa
dh Fkh

(b) All internal threats were to be
handled by the ally alone, with no help
from the British/ IHkh vkarfjd [krjksa
dks fczfV'kksa dh enn ds fcuk] vdsys
Ig;ksxh }kjk gh laHkkyk tkuk Fkk

(c) They ally was to provide resources for
maintaining a British armed contingent
stationed in its territory/ mUgsa vius
{ks= esa rSukr fczfV'k I'kL= ny dks
cuk, j[kus ds fy, lalk/ku miyC/k djkus
Fks

(d) The ally could not enter into any
agreement with other rulers without the
permission of the British/ vaxzstksa dh
vugefr ds fcuk Ig;ksxh ny vU;
'kkidksa ds IkFk dksbZ le>kSrk ugha
dj Idrk Fkk

Which one of the following was a
significant feature of the Quit India
Movement?/ fuEufyf[kr esa Is dkSu Ih
Hkkjr NksM+ks vkanksyu dh ,d
egRoiw.kZ fo'ks"krk Fkh\

(a) Women did not play an important role
in the movement/ vkUnksyu esa
efgykvksa dh dksbZ egRoiw.kZ
Hkwfedk ugha Fkh

(b) Nasik in Maharashtra was an
important regional base during the
movement / vkanksyu ds nkSjku
egkjk"V? esa ukfld ,d egRoiw.kZ
{ks=h; vk/kkj Fkk

111.

112.

(c) It was marked by anti-zamindar
violence/ bls tehankj fojks/kh fgalk
}kjk fpfar fd;k x;k Fkk

(d) It was marked by the emergence of
parallel governments in different parts of
India/ ;g Hkkjr ds fofHkUu fgLlksa esa
lekukarj ljdkjksa ds mn~Hko Is fpfar
Fkk

Which one of the following
characteristics does NOT describe the
Khilafat movement?/ fuEufyf[kr esa Is
dkSu Ih fo'ks"krk flkykQr vkanksyu
dk 0.kZu ugha djrh gS\

(a) Mahatma Gandhi sought to link it to
the Non-Cooperation movement /
egkRek xka/kh us bls vig;ksx
vkanksyu Is tksM+us dh ekax dh

(b) It was not supported by the Congress/
bls dkaxzs| dk leFkZu ugha Fkk

(¢) It demanded that the Turkish Sultan
must retain control over Muslim sacred
spaces in the erstwhile Ottoman empire/
blesa ekax dh xbZ fd rqdhZ IqYrku
dks rRdkyhu vksVkseu lkezkT; esa
eqfLye ifo= LFkkuksa ij fu;a=.k cuk,
j[kuk pkfg,

(d) It was led by Muhammad Ali and
Shaukat Ali/ bldk usr'Ro eqgEen vyh
vkSj 'kkSdr vyh us fd;k

Which one of the following was NOT a
feature of railways in colonial India?/
fuEufyf[kr esa Is dkSu vkSifuosf'kd
Hkkjr esa jsyos dh fo'ks"krk ugha
Fkh\

(a) The main purpose of the setting up of
railways in India was to serve the
interest of the empire/ Hkkjr esa jsyos
dh LFkkiuk dk eq[; mis'; IkezkT; ds
fgr dh Isok djuk Fkk

(b) British capital investments were
invited with 15% guaranteed interest to
be paid if necessary from Indian
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113.

114.

revenues/;fn vko';d gks rks Hkkjrh;
jktLo Is Hkqgxrku fd, tkus okys 15%
xkjaVh—r C;kt ds IkFk fczfV'k iwath
fuos'k dks vkeaf=r fd;k x;k

(¢) The construction work disturbed 115
ecology/ fuekZ.k dk;Z Is ikfjfLFkfrdh
esa [kyy iM+k

(d) The construction of the railways was
planned in such a way that it connected
the internal markets with the ports, but
provided no interconnection between
internal market cities/ jsyos ds fuekZ.k
dh ;kstuk bl rjg Is cukbZ xbZ Fkh fd
;9 vkarfjd cktkjksa dks canjxkgksa Is
tksM+rk Fkk] ysfdu vkarfjd cktkj
'kgjksa ds chp dksbZ varjlaca/k ¢nku
ugha djrk FkkA

Which colonial administrator made the
following declaration about the partition
of Bengal in 1904? "Bengal united is a
power. Bengal divided will pull in
different ways. That is perfectly true and
one of the merits of the scheme*“/1904
esa caxky ds foHkktu ds ckjs esa
fuEufyf[kr ?kks"k.kk fdl vkSifuosf'kd
¢'kkld us dh Fkh\ A**caxky ,dtqV ,d
'kfa gSA foHkkftr caxky vyx&vyx
rihdksa Is dke djsxkA ;g fcYdqy Ip gS
vkSj ;kstuk dh [kwfc;ksa esa Is ,d
gSAA

(a) Lord Curzon/ y,MZ dtZu

(b) H. H. Risley/,p- ,p- fiLys 116.

(¢) Lord Minto/ y,MZ feaVks
(d) Sir Lancelot Hare/ lj ySaly,V gjs

Who among the following is the author of
the book 'The Indian Struggle,
1920-1934' ?/ fuEufyf[kr esa Is dkSu
An bafM;u LV3xy] 1920&1934* igLrd
ds ys[kd gSa\

(a) Maulana Abul Kalam/ ekSykuk
vcqy dyke

(b) Jayprakash Narayan/ t;¢dk'k ukjk;.k

(¢) Subhash Chandra Bose/ IqHkk"k
paz cksl

(d) Manabendra Nath Roy/ ekuosaae
ukFk j,;

Which one of the following statements
about the IIbert Bill is correct?/ IIbert
Bill ds ckjs esa fuEufyf[kr esa Is dkSu
Ik dFku Igh gS\

(a) It proposed that the Indian
magistrates would try Europeans in
criminal cases./ blesa ¢Lrkfor fd;k x;k
fd Hkkjrh; eftLV3sV ;wjksih; yksxksa
ij vkijkf/kd ekeyksa esa eqdnek
pyk,axsA

(b) It allowed Indians to fild criminal
cases against Europeans./ blus
Hkkjrh;ksa dks ;wjksih; yksxksa ds
flkykQ vkijkf/kd ekeys ntZ djus dh
vuqgefr nhA

(¢) It authorized Indian ICS officers to
try Europeans in courts./ blus Hkkjrh;
vkbZih,| vf/kdkfj;ksa dks ;wjksih;
yksxksa ij vnkyrksa esa eqdnek
pykus ds fy, vf/lk—r fd;kA

(d) It was an agitation led by Ilbert in
support of the nationalists./ ;g
jk"V?okfn;ksa ds leFkZu esa vkbZcVZ
ds usr’Ro esa fd;k x;k ,d vkanksyu
FkkA

Who among the following was the
founder of the Young Bengal Movement?
/fuEufyf[kr esa Is dkSu ;ax caxky
vkanksyu ds laLFkkid Fks\

(a) Henry Vivian Derozio/ gsujh fofo;u
Msjksft;ks

(b) David Hare/ MsfoM gjs

(c) Dwarkanath Tagore/ }kjdkukFk
VSxksj

(d) Prasanna Kumar Tagore/ ¢lUu dqgekj
VSxksj
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Which one of the following statements
about the quit India Movement is not
correct? /Hkkjr NksM+ks vkanksyu ds
ckjs esa fuEufyf[kr esa Is dkSu lk
dFku Igh ugha gS\

(a) It broke out in August 1942./ ;g vxLr
1942 esa QwV iM+kA

(b) Ahmedabad Textile Mills went on
strike for more than three months./
vgenkckn diM+k feysa rhu eghus Is
vf/kd le; rd gM+rky ij jghaA

(¢) Muslim League and Hindu
Mahasabha actively participated in the
movement./ eqfLye yhx vkSj fganw
egklHkk us vkanksyu esa If@; :i Is
Hkkx fy;kA

(d) Communist Party did not support the
movement./ dE;qfuLV ikVhZ us
vkanksyu dk leFkZu ugha fd;k-

Consider the following movements: /
fuEufyf[kr vkanksyuksa ij fopkj
djsa%

1. Moplah Rebellion/eksiyk foaeksg

2. Bardoli Satyagraha/ckjMksyh
IR;kxzg

3. Champaran Satyagraha/paikj.k
IR;kxzg

4. Salt Satyagraha/ued IR;kxzg

119.

Which one of the following is the correct
chronological order of the above in
ascending order/fuEufyf[kr esa Is dkSu
Ik vkjksgh @e esa mijksa dk Igh
dkykuq9fed De gS\

(a) 1-3-4-2  (b) 3-1-2-4

(¢)2-3-1-4  (d)4-2-1-3

Which one among the following is not
true with regard to Rig Veda Samhita?/
_Xosn lafgrk ds laca/k esa fuEufyf[kr
esa Is dkSu Ik IR; ugha gS\

(a)There are about 300 non-Indo-
European words in Rig Veda/ _Xosn esa
xHkx 300 xSj&baMks&;wjksih; 'kCn
gSa

(b) There is a reference to dasarajna
(battle of ten kings) in the Rig Veda/
_Xosn esa nk'kjkK "anl jktkvksa dh
yM+kbZ’2 dk mYys[k gS

(c) It is mentioned in the Rig Veda that
the Bharata chief Sudas fought against a
confederacy of ten tribes/ _Xosnh esa
mYys[k gS fd Hkjr ceq[k Ignkl us nl
tutkfr;ksa ds la?k ds flkykQ yM+kbZ
yM+h Fkh

(d) Purus sided with Bharata in the battle
of ten kings/ nl jktkvksa ds ;q) esa iq#
us Hkjr dk IkFk fn;k

(English) — PART 1

1. C 21. A 41. A 61. B 81. B 101. | D
2. B 22. C 42. D 62. B 82. C 102. | C
3. C 23. C 43. B 63. B 83. A 103. | D
4 A 24. A 44. B 64. C 84. D 104. | D
S. C 25. D 45. A 65. A 8s. A |105. | C
6. C 26. B 46. C 66. D 86. C 106. B
7. B 27. D 47. B 67. B 87. B 107. | C
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MATHEMATICS —PART 11

81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72,

73.

74.

75.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

S1.

52.

53.

54.

5S.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

10.

11.

12.

13.

14.

15.
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96.

97.

98.

99.

100.

76.

77.

78.

79.

80.

56.

57.

S8.

59.

60.

36.

37.

38.

39.

40.

16.

17.

18.

19.

20.

(G.S.) — PART 111
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